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2 T AP URATAT T T faeHiIad IR fau™ siied Sui=ararett A, B, C 31101 D 318 9R faer 3imed.
HHIR eSSt FasT Samel UyH fau™ g1 fau=rar gaad, ST gl fau™ afdbabesed ugQ
faumTied Rfea s,

faemdf g1 3w Siaam, deel I HIged 8id
A. faendff 390 Siaa el

B. faemff 37w Siaa

C. | ISP Fel

D. T B o1l A8

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

When students speak well , they get appreciation
A. students did not speak well

B. The students spoke well

C. they got appreciation

D. they did not appreciation

i S Ul Shuie el o K 53 i S (65 ) e e ) laa e dm S o ales SO e Jlse s 1l
om Gae S gl S e haie dea 93 ol by S oL sl (S e 2 e sd Ales S Ul
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A5 o lea) LSS

B_s L) (oS sl .

C& (S G dasa (SO

D& (S e (8 Mhan (S )

A.AC
AAC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC
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(A)  90°

(B) 75°

Answer:
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Answer: B.SYTaYquUT
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A. (A)
B. (B)
C. (C)

D. (D)

Answer: D. (D)
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6 T AP URATAT T T faeHiIad IR fau siigd Sui=ararett A, B, C 31101 D 318 9R faer 3fred.
HHIR e Sie! FasT Samel UyH fau g1 faum=rar gaad, ST gl fau™ dfbeeted ugQ
faumried Rfed s,

A. foraror 9iTa g

B. foraror =T Fagd

C. fRrgrem T I fea

D. fierp T U fed et

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If writing is good, the teacher gives good grades.
A. The Writing was good

B. The Writing was not good

C. The teacher gave good grades

D. The teacher did not give good grades
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AAC
A.AC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

Answer: A.AC
A.AC
A.AC
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7 T Sl ufvwde AT exvame!, @ fadd (P), (Q) (R), (S) 31f0T (T) & U a1 I Ssh A
QAT T, AR Tete g SR .
P. SITCHTAT 3THE aTedl 0T I dadT grd 3(ddl.
Q. T Bl YIRS SIaUITS! SHET dal AT fRifaciar Hid Tt YReAe fadr. e dieg!
WIS, YDl ATgl.
R. dlegl 301 §TesT qd i gidl.
S. ST did did gidl, ATHes dl YU US, Ul ATel, TUT dieal™ I fS<1 arg Gg areet.
T. U o=l PieaiM SPTeman Slarae AT o SfoT $a fExmed gu wmar fea.

TR FeHR WIeTete! HIvNd arad A S-a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crane felt insulted and wanted to take revenge.

Q. He invited the fox to dine with him, and served boiled rice in a jug which he could not eat

R. A fox and crane were friends

S. The crane had a long beak, so could not take the soup, but the fox licked the dish.

T. One day, the fox invited the crane to dinner, and put the soup in a flat dish.

Which of the following should be the FOURTH sentence after rearrangement?

ostes @l O il (P) (Q)¢ (R)e (S) ) (T) =S sl 8 23 2 gy e iad i fio gy A S iy Giae b S
a0 Sl

P. L s Wl Yo 55 55l K e 0 oS G,

Q. W5 LS (i LS 55 5 Lo (e Sa Jsla DUl ) ceaien (S e _Sald S ohasl il
R. 68 Caasd (sl ) 5350 SO,

S. WS UeS 1l 5 s3asl 8l oLt S (3 (b 42 U5 55 sl ool (ogaal isn (S b,
T. W) e Fr Dlse Sl 4o Hsd sl esd Ciged (S eSS ol S Gl 3555 ¢ g3 S,

$ s Ug Letisn alea L gsS aay S B3 o jluso
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B.R
B.R
B.R
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C.S

D.T
D.T
D.T


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: A.P
AP
A.P
8 Hiddr fafumRy -
Al
B.&iagat
C.HafEt
D. 1Al
Answer: C.Har=t

9 T Wete Al dresoigdd arar ST |l faciedr Ui ST .
M, P, J, B, R, T 3If0l F UhT IgesTd dhalaed a9 aefaia 3HTad. B BT J T ST STSlal [T 318 S M =T
%W%WW&H%- P 81 B =T STeH SISl faaRT SIf0T R =41 IS STl Rl 318, T 81 M 91 dab
Gl

Freftertie o e GORT Hdkil Ulged] S i=dl dahled Juldidhs Sl 3HTg?

DIRECTIONS: Read the following information carefully and answer the questions that given below.

M, P, J, B, R, T and F are sitting around a circle facing at the centre. B is third to the left of J who is

second to the left of M. P is third to the left of B and second to the right of R. T is not an immediate

neighbour of M.

In which of the following pairs the second person is sitting to the immediate right of the first person?

o s S ol K a5l oy e s S il gles i3 aa ke 1y

MePeJeBeReT Lol Fom St s 8 ) Sepihh ) i S EH 8 S0 Bed S sa o lowd wilh SM S
s Vot e EL Pe B ) ot e 0 SR 2 msd e i ST M -2 0 s o8 S
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AJR
AJR
AJR

B.PJ
B.PJ
B.PJ
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10

Answer:

11

D.MP
D.MP
D.MP

C.TR
C.TR
C.TR

TehT IHTAT WG 216 TG SHTIO JH G0 B9 T 317G

3fSret Hebet AT 3MTed

Angela Merkel is the —

o JSke Shail:

A STHAAT Srema

A.President of Germany
Ava (S Sen

B.STH- Graut

B.Chancellor of Germany
B. sluils (S (e

c . afafear sree

C.President of Bolivia
Coova Slgla.

D Sifefegara Hagct

D.Chancellor of Bolivia
D.obuils (S Lsds

B.STH-T raut

B.Chancellor of Germany
B. oluils (S (Gea -

had U Waadl Tg 3ad fbdl dg™ ° 3Med?
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A cube is painted and cut into 216 smaller and identical cubes by making the minimum possible number

of cuts.

How many smaller cubes have only one painted face?

@ 0B mie 118 0n 8 U 2 555 S S isen ol S 055 Gl 2 55 i S 216 S K5 S (S S
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A.64
A.64
A.64
B.96
B.96
B.96
C.216
C.216
C.216
D.50
D.50
D.50
Answer: B.96
B.96
B.96
12 3636— 3232 9 Uh b WY 3ih
Unit digit of 3636— 3232js
3636— 3232?5 Ay kt\iﬁ <
A.0
A.0
A.0
B.4
B.4
B.4
C.6
C.6
C.6
D.2
D.2
D.2
Answer: A.0
A.0

A.0
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13 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.

India's software companies have prospered by keeping costs to a bare minimum.

A.Flourished

B.Ended

C.Failed

D.Declined

Answer: A.Flourished

14

Answer:

15

WTeete! ST RIATER o 3 Jed Jaid 7S 38?2
At which of the following locations the value of ‘g’ is the largest?

HERsdae B8 e did aapnie g S b 138 e shs S

AHSTC TEER
A.On top of Mount Everest
A‘)J}\ék\:\.ug‘)ﬁ‘ &i\.’}j\.A

B.$dd fIAR®R
B.On top of Qutub Minar
B.ows S Sl alad

C. HHERYTAT Uh[ fSHIUMER

C.At a place on Equator
C.t s (S Isind laa

D.3feTfadpried TehT fRIfaR RiedTaR

D.A camp site in Antarctica
D. il S S (e S5

D.3fcTfachie ThT RIfaR VISR
D.A camp site in Antarctica
D&l s S0 (e S L)

TR R[S eG DI ?

AFZH
B. S
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D. 8yl

Answer: AP

16 g =Y
4128 — 2100 =7

Simplify:
4128 — 2100 =7

2100 — 4128 €12 L ool =7

A.2028
A.2028
A.2028

B.2128
B.2128
B.2128

C.3028
C.3028
C.3028

D.2228
D.2228
D.2228

Answer: A.2028
A.2028
A.2028
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17 T T U UTd, i faem™ fclt oiied, SaremaR IR Fehy sired S |, 11 3for 11 3 sifard
Dl 3Tg. ARG I SRcTedT TN At srell aRiel, § 9o ST dlegRd A, SH=Ia: 1
&Tﬁwawﬁﬁﬁam,mﬁwﬁﬁwmﬁmﬁmwﬁm.
ICEICE
HIvae! O Ufe 9,

HITcitE! AT BTG T4
DIVIATE! BTG SIS A,
fsepf:

|.Wﬁ#$ﬂ1’c{ﬂﬁ.
II. FTeT Ufelt SISy T
I11. PIUTTE! S U 5.

DIRECTION: In each of the following questions, three statements followed by four conclusions marked I.
II, and Ill are given. Consider the statements to be true, even though they seem to be at variance with
the commonly known facts and find out which of the given conclusion(s) logically follow(s) the
statements, disregarding the commonly known facts.

Statements:

No pen is pencil.
No pencil is paper.
No paper is board.

Conclusions:

I. No pen is paper.

Il. Some pencils are not boards.
I1l. No board is pen.

Gl (08 ez s o dad A paie il e | sl N sy s s S il K 0 2l Jla s S0 g K
S by sk ibie @il K 0w S AS (oS BB sl osr I ki e S Glis aslee  jshale oy aa Bl S
b kel lis aglae n Hshale con S S s

bl

s o Dl B S
= o S iy S S
o on Sm xS aK

da:

Loz o S B S
. - o 35 Josy 428
I, - = o 8 30 SS

AP fAspY | Fad s,
A.Only | follows
Aciypal UGS Gom

B.de AwpY 1| fAgd e,
B.Only Il follows
B.ciya Il = S 5w
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18

Answer:

19

C.%de ey 111 fFag s,
C.Only 11l follows
Caaralll U8 som

D.®Iurde! sy fud T«

D.None follows
D. = o Gilhae (S8

D.®Ivae! sy fud T9em.

D.None follows
D. = ud Glas S S

fiar fapR 3rem =+ AUl WY FHal 9IRS, Wbl

Anxiety disorder can be well explained as

Dby o USeula LS il 5 = ok (gl 5S (ol oA (S Ul s

A.3EAMH reum=T Hid sieswelt SIMRY HIaaTdHS Tl
A.Emotional state identified by panic attacks
A Sl LS 5 jsh S des S Casd Cidlis S Jlad e il

B. 3% JURIUie gD ST

B.Emotional condition of excessive checking
B. i) sa (b (S gl oaly)

c fafe faTr
C.Disordered thinking
C.z o= onainls

D. =i, JfHTadr sfor Widi= yraan

D.Feelings of apprehension, uncertainty & fear
D.obual K ol (il pé ondoni)

D.IIRichar, fAfdar sfor Hidlh yramr

D.Feelings of apprehension, uncertainty & fear
D.obual 8 cad ol iy e o)

SHRYSR ITd Uheh 3Te:
Ampere is the unit of:

o S (S S
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20

Answer:

A.yarg fas
A.Current electricity

Al
B.fagaa uR

B.Electric charge
B.z ks S

C.sig &
C.Magnetic field
C.1ls SE8a

D.UfRIY
D.Resistance
D. sty )

A.YaTg fast
A.Current electricity

Al
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B A SRISEd Hifgdl 3 fdhar HHI THIUTT SUiaRId 810! FgUrel

Information about others is converted into more or less co-during cognitions is

= BS

Slaselbal gralle S glag s Slasbie e o b S G

N IEC
A.Stereotypes
Aol 0 580) 588 1S 58de Juise )

B.AF=Udl
B.Conformity
B.ali (S il

C.3{bId Bl
C.Imprinting
Celdl S s

RIIEISERU

D.Socialization
D.sJs zlaw

I NCIECA
A.Stereotypes
Aol s i) 58 1S 8l Juise )
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21 WU P WX 1T ATET?

Which one of the following is not a true snake?

§ e b e 8w e ) A p2ie

AP Ig

A.Glass snake
A5 Gt

B.IRI 94

B.Sea snake
B.ouls s~

c.9& gy
C.Tree snake
C.lu s ad

D. 3ie/csamg
D.Blind snake
D. b Lal

Answer: A BT IO1g
A.Glass snake
ARG s

22 T TSN GO 1. G e

D.daTl

Answer: D.doa Ul

23 0 Hisd UGd A RS- SMU-UT&d HRUIATS! RI&H™ HIoTe FaufiR SresTer uigor?

What precautions does a teacher should take to make lecture-cum-demonstration method a child-
centred method?

¢ e S Ll el JLlial US S ol 4 S Sl 3 e Bha S 5k S ol fuile oS s
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AT BT TAIT, TaRAT 30T IUTISHI SIS d SqqRIT HRUATT faemafar T gHbr gon

A.To take active co-operation of students in arranging and organising the experiments, apparatus for
demonstration purposes

AL S claldl A S 5 S i sl alaie Sl Saljad A _Saalie S LA sl gsla Jud S Uk
B.fa=meiAT Tduv! areE HRUgN W= ool

B.To impart freedom to the students to take readings independently

B.LS a3l Al S a5y ysh Al S (sl Gl

C faamatr forman qof TRUaNITe! TRUI-ER-aR0T UG U S HRor

C.To organise the demonstration in a step-by-step manner in order to satisfy students curiosities
C.LsS ahie Gae JIl iy ala je S dae (Jalay A S 581 )5 oS Gauad S (ale il

D.a3d Id
D.All the above
D_?LAS b‘)‘jshaﬂ

Answer: D.Gﬂﬂ‘v‘lﬁc
D.All the above
D.okai o) sS3a

24 f1E2n: gt usite! U UYTd Udh e TT8Tes 318, HferardT Fg-1 SHel &1 31fr diw Te fae.
6,9, 15,27, ......., 99

DIRECTION: In each of the following questions, one number is missing in the series. You have to
understand the pattern of the series and insert the number.

6,9, 15,27, ........ , 99

= B seS Lo S jaai 0288 5l lgaan Sz ol S 0238 el SO S s g3 Jlsme g S s iy

6,9, 15,27, ........ , 99

A.51
A.51
A.51

B.34
B.34
B.34

C.37
C.37
C.37

D.84
D.84
D.84
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Answer: A.51
A.51
A.51

25 AT WY UR HRUATTST 10 Yebg ARTAT, TR 450 Hiex did Yigeied] ¢He UR HRUAMTST 30 Yobe ARTAT.
LECIRIGIKCA ]

A train required 10 seconds to pass a pole, while it requires 30 second to cross a standing train which is
450 meters long. Find the speed of train.

B0 0 S 58 0 5568 Sl S ¢ i S5 em oS B 10 2 1S S S S S S 0 S
S psbea ) (S G f o o e 450 s> o s s S B

A.75 feHa™
A.75 kmph
A.75 S b S 5

B.81 fhHIAN
B.81 kmph
B.81 A 4 i 5K

C.90 TN
C.90 kmph
C.90 ~uigS 4 i 5K

D.100 fHH/a™
D.100 kmph
D.100 & L3 jise 55

Answer: B.81 fdHI/d™
B.81 kmph
B.81 ~iel & i K

26 Teh] il 31 3TH [y 3178 o1 AT AT o fasbrrar stz ulomy gl o arensit
HEHd BIUIR 8! d A

A person strongly believes that nurture strongly influences the development of his child. He would not
agree with the Importance of

S Bosp o Bl il S o5 - o LS e S Cal 8 S o Laiplll o (0 S S USG5k 2 g padd SO
i
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Answer:

27

Answer:

A.3(TdIfRID g
A.Genetic factors
A. rpalie JSbia

B.qHagw® die e figesvare weft
B.Exposure to peers
B.Lud @l S ) sagtl

C. RO 3

C.Joys at home
C.bisd s

D.3Ms-afsd UehRid Hid Sl UHuuT
D.Warmth displayed by parents

A .31 gch
A.Genetic factors
A palie Jlis

GET IT ON
Google Play

TAETE SMTUe! 701 Ag foaT safdaira ufehar SaviHT g=iquaredn ufshae Teurdrd

The process of attributing one’s own traits attitudes or subjective process to others is called

=2 e S Jae 1S 58 Crsmia (S e (A0 L sy S aldle 1 (S s s

A gAY

A.Predisposition
A Oy ) st 5y

B9l

B.Regression
B.ok Sy

C HAREAT
C.Disposition

C. sl
D.U&Tu

D.Projection
D.oriSas 5

D&Yy

D.Projection
D.osSaa 5
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Answer:

29

Answer:

AN L
, A
<] [><] AL
(X) I LA (B)

A Yaxre REgE AP I URig 3ffe -
Shivpuri National Park of Madhya Pradesh is famous for -

= oy Sl Jid (g sl S () j e -

A.dTg ST gt
A.Tiger and elephant
A ek o) e

B.SHTel ST
B.Wild Bison
B. il s

c.ueft
C.Birds
C.oxy

DR anfor fduerra gror
D.Leopard and Spotted deer
D. ooy oy S

D. e 311for fuerra gRum
D.Leopard and Spotted deer
D. oSS o) S

GET IT ON
Google Play

HEAT: AN X fEerean HERiET ary F84 (), (b), (c), (d) T FERiFEE FI0EN HFR 791
FaT ASA?

DIRECTIONS: Find out which ofthe figure (a), (b), (¢), (d) canbe formed from the pieces givenin fig. (X)

i S bl o o B s el (@) (b (e (d ol o =B s o 35 e e S (%)t
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30 54 Adbemy fAfHe HIeagR ST B S79dT STal?

What angle is made by minute hand in 54 sec.?

54 € o i gl 3 L S s (s (oS i (e IS

A.5.4°
A5.4°
A.5.4°

B.6.4°
B.6.4°
B.6.4°

Cc24°
C.2.4°
C24°

D.7.4°
D.7.4°
D.7.4°

Answer: A.5.4°
A5.4°
A.5.4°

31 Ua1 fafRiy Hidfae UHHe, SR GROUND 8T Xlsg HPRQSX 311 $edtg ddl Sild 3¥d, NOURISH U
DT PG bl SR?

In a certain code language, if the word GROUND is coded as HPRQSX, then what is coded as
NOURISH?

Lil S e b oS b e saie S GROUND S HPRQSX 55 ¢ —tlaleSd NOURISH #5alalesd LS <

A.OMXNNMO
A.OMXNNMO
A.OMXNNMO

B.MQRVDYA
B.MQRVDYA
B.MQRVDYA

C.MQRTFXA
C.MQRTFXA
C.MQRTFXA
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D.OMVNMNO
D.OMVNMNO
D.OMVNMNO

Answer: A.OMXNNMO
A.OMXNNMO
A.OMXNNMO

32 I feoiedr yafaimeH 97 o a1 ®1al.

DIRECTIONS: Find the odd one out from the given alternatives.

RN K S o e e doltie 8 0 1

A.3gld]

A.Summer

AR

B.fgares
B.Winter
B.sa

C.Urqara!

C.Rainy
C.olu n

PRSUIEIN

D.Sunny
D.oss)

Answer: D.@W’i’[

D.Sunny
D.oés)

33

Answer:

AT
B.HIYcR

C.HT
D 70! Jd

D 70! Jd

GET IT ON
Google Play
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Answer:

35

Answer:

36

Choose the word which is most similar in meaning to the given word.

LAZY

A.Sluggish
B.Active
C.Industrious

D.Energetic

A.Sluggish

GET IT ON
Google Play

FIAL: WIelel 92ATd Seadiciiel Jaraden! H0eal Gaidl Hiedid Fealriel ! s 767

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

= Sl K oy s o e i o JS s wilsm i Jlsa S i bl

= B

kS

=

(D)

(A) B ()
A. (A)
B. (B)
C. (C)
D. (D)
B. (B)
3ThHB AT PRUI § 3G,

Cause of aggression is

PERETIE LFUITENG PN,

A ST U
A.Inborn tendency
AP (Slay
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37

Answer:

B. T UTe-aIS ]
B.Child rearing
B.obsn S =

C.FRmEm
C.Frustration
C. o=

D.(a) §9d
D.All of these
D.alai oy S3e

D.(a) 8 9d
D.All of these
D.olai o 582

SIfORT e Sivrar ITTHS 3T
The Janjira Fort is in the state of-

= Ut g s paia

AT U
A.Madhya Pradesh
A_u;ﬂ:\a):} AR da

B.3WR U
B.Uttar Pradesh
B.oi il

C.HeRTY
C.Maharashtra

C. A4 e -

D. T} PHIUIEY el

D.None of these
D.ose 58S 0 O

C.HeRTY
C.Maharashtra

C. A4l e -

GET IT ON
Google Play
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Answer:

39

Answer:

= feoredT IR SR (FHEE) HAINT HIG! AT Fiel.
DIRECTIONS: Find the odd from the given four figures.

St s K Bl s e 3Bl Ll B s 0lly

GET IT ON
Google Play

=

DS

Hoyd SiABRIeT SHAESTIuTS! JfFEMM aeR faR sereer faeh ime:

The Constitution confers special responsibility for the enforcement of fundamental rights upon the:

= BS Jsd sl med (agead A S HE S Goia ool Gl

A TS
A.President
A S

B.afe =rTed
B.Supreme Court
B. S CsS mijan

C.g faurres
C.State Legislature
C. sl 058 (S Quly)

D.9dq
D.Parliament.
D. Sl

B.gdf= uraTeg
B.Supreme Court
B. S SsS mian
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Answer:

GET IT ON
Google Play

I T HIfg dlesigdes arar SfoT ara feeredr gy I .

M, P, J, B, R, T 3Tf01 F UhT 9desTd dhaaTed g aaia 3HTed. B BT J T ST STofal [T 318 S M &
ST SIS GIRT 3178, P 8T B T STeAT STS[aT [T ST R 2T JoTed STo[el GOl 3118, T 81 M AT dah1ed
RISIRY TG

Rwﬂauﬁﬁﬁ@?ﬁm&@a?

INEICICERGER
(B) ITAIHS T
(C) ISTdir g faarT

DIRECTIONS: Read the following information carefully and answer the questions that given below.
M, P, J, B, R, T and F are sitting around a circle facing at the centre. B is third to the left of J who is
second to the left of M. P is third to the left of B and second to the right of R. T is not an immediate

neighbour of M.

What is F's position with respect to R?

(A) Third to the left

(B) Fourth to the right

(C) Third to the right

o Gl SOl K o a5l 05y e Ols S el i e ok iy

Mc Pe Je Be Re T Ol F o s e 3 R a)) S o Sl S S 558 S5 Bed a8 gn el s s S M S
= sy e L PeB gl ) i e i SR o2 ) sy e il STeM o= (s s S

R 3l SF ¢ oS Gy S

(A) s s i
(B) s> = o
(C) st o uld

AHAB (A)
A.Only (A)
A a (A)

B.%d (B)
B.Only (B)
B.— »a (B)

C.%d% (C)
C.Only (C)
C.<= (C)

D.al%! (A) 3IfUT (B)
D.Both (A) and (B)
D. (A) L (B) usiso

D.GIal (A) 30T (B)
D.Both (A) and (B)
D. (A) s (B) usis
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Answer:

42

Answer:

Choose the word which is opposite in meaning to the given word.

ERRATIC

A.Consistent

B.Inconsistent

C.Irregular

D.Unstable

A.Consistent

R =Y T
1.62 + 10.08 + 110.009 = ?

Simplify:
1.62 + 10.08 + 110.009 = ?

ol Gl
1.62 + 10.08 + 110.009=?

A.121.709
A.121.709
A. 121.709

B.131.709
B.131.709
B.131.709

C.141.709
C.141.709
C. 141.709

D.151.709
D.151.709
D. 151.709

A.121.709
A.121.709
A. 121.709

GET IT ON
Google Play
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Answer:

44

g A< 3Hd rARN Tefdd sraard

The direct experiences of children are related to—

d@ﬂ\s&\gﬁ&ubb\ﬁéu}%_

ATRGEHT

A.Excursions
Az

B.7uiaRuflg tREREaTg

B.Environmental interactions
B.deld Sl sala

C TN U e

C.Demonstrations of experiments
C.olbe IS &l a3

D.ad Id
D.All the above
D.olai o) sSae

D.ad Id
D.All the above
D.olai o583

GET IT ON
Google Play

TR T4 TSI A I TR T SHTTed WTeiadds! HIore f3wmTuret smed

All species of ‘Lemur’ are endemic to which among the following places of the world?

= Olie s Bl S Gae dids 0 (S L (b i (S el

A TTGITRDR s
A.Madagascar Islands
Al s SulBel

B.3SHY
B.Andamans
B. o)

C.3{SUEd U
C.Arunachal Pradesh
C. S dabisyl

D S Fw iy

D.Brazillian Rainforests
D.cbu y Byl
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Answer: A TG ¢
A.Madagascar Islands
A A Sl

45 MSd eAmERISes et SFufRd giar. ATl UTas™ greTal ard Jedd 31 guf exuamdl anidet
U1 faematd g quard! fadt el @R STad B I ?

A student is absent due to typhoid in the school. His guardian has requested you to spare somebody’s
class-notes to cover the class-work of the child. What will be your next step?

05 sl S S o (S Gl a0 el S G g S el pala e s DSl s S BlE e Gl S
18 5 LS 38 D) S Gl Sl LS JaSa S alS S S Sl S 200

A.Advise the parents to manage note-books from the student who is residing in their locality
A St 8 SG &g wale (il S e o S Loy sde 58 cpally

B.UTAH T 3TN AT YhRUMd Had B0 Wﬁf 3Hlgld 3 Q-‘&ICOIIC'I
B.Show the parents your inability to help in this matter
B.osleSa (LU (il ae =S 2ae (pe e (l S (il

C.a ad Garal drd Jead aadl Jimd
C.You ask the best boy/girl of the class to spare his/her note-books for the class-mate
Coo S &N SG &g i) A S gl S S A8 8 (S o S5 i S8

D . UTA T A icdel B 4, d Wd:d avil-oTH Jul e usd SR Fima
D.Suggest the parents not to worry, the child himself will complete the class-work.
D. S S dsSe S8 S IS aa a S~ )83 Guall s oS (oS Ssad,

Answer: C.a¥TredT GaraH TaTdl AT G 1aal G
C.You ask the best boy/qirl of the class to spare his/her note-books for the class-mate
Co S AN S S ) A S (gl S OBS S 8 (S S5 i S 038

46 “geq’ g e Teft Trear,

AN +3d
B +cd
CISI+3d
D. 9l + T4

Answer: D.dal +Ud
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47 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
He said he was fine, but | knew he was keeping something back.

A.hiding
B.revealing
C.showing

D.telling

Answer: A.hiding

48 Out of the given options, choose the most appropriate one to fill in the blank.
Problems if the parents' approach to discipline is inconsistent.
A.arise
B.has arise
C.has arises

D.have arises

Answer: A.arise

49 T Wit fededt faur (A) st HRUT (R) ISY, Wieitd Ut arg yafg fAasr:

fau™ (A): YT I3t STeraTa Y 3.
PR (R): TS I SHTRISHA PHTa SRS SHE FTUART HRdId.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): We should avoid sleeping under trees during night time.
Reason (R): Trees convert oxygen into carbon dioxide at night.

Gl S8 iy e il (A) Ul (R) oS e daliie grmaa s e dd a e o A _Sa g

Gl (A) - le U o S 2 S o 0 Gy S ) e
ras (R): -0n =S daati ne TLusT (I3 1S5S (pmansT (a5 4
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Answer:

AT (A) 30T (R) T 3MT&d 0T (R) (A) T AT TP IHRT 317G,
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A (A) U3 (R) us) on s 05 (R) (A) = sbiay o 3 (S

B.GIST (A) 3T (R) TR 3R, T (R) (A) T T TSIHR0T T
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) Ls (R) o5& cum mmnia 05352 (R) (A) = wnd Saliay o 3 (S

C.(A) U 315, W (R) WIT 318
C.(A) is true, but (R) is false

C. (A) N« = aa (R) Bl
D.(A) @Ic 35, T (R) 9 37T
D.(A) is false, but (R) is true

D. (A) S« 2 Bl (R) = qusa

AT (A) 3T (R) T 3MTed 3T (R) (A) T TRY WFTH TR,
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A (A) L5 (R) L8 o o 0552 (R) (A) = Cabiay Cos o (S

e 3MTeTeTd! Uaxl! BR HERT AR

Suicidal tendencies are not very common in

= U ol G ope oS a8 ISH A

ATHTH! it

A.Lonely person
Apeai L

B.dx
B.OId age

B_)\)J P

C.faanfea oredl
C.Married individual
CAS) s2d (5ol

D. R

D.Depression
D.oxdu 3

c foarfga soat
C.Married individual
C.OLS! oad (50l

GET IT ON
Google Play
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51 1 TRSAT 1:2:3 T UIRRTAED 3HTed HTIOT Fiar T4TdT 12 35, T AT 3HTd?
Three numbers are in the ratio 1:2:3 and their H.C.F. is 12. The numbers are?

S omed - 212 Al ) SOV sl oo 1:2:3 @l o

A4, 8,12
A4, 8,12
A4, 8,12

B.6, 8, 12
B.6, 8, 12
B.6, 8, 12

C.12, 24, 36
C.12, 24, 36
C.12, 24, 36

D.4,12, 16
D.4,12, 16
D.4,12, 16

Answer: C.12, 24, 36
C.12, 24, 36
C.12, 24, 36

52 WTeiterde! qafd T Squlid Qe
Find the smallest of the following fractions

O3S O S (sen i s e )5S D a0k

A1/12
A1/12
A1/12

B.18/218
B.18/218
B.18/218

C.4/50
C.4/50
C.4/50

D.19/230
D.19/230
D.19/230
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C.4/50
C.4/50
C.4/50

GET IT ON
Google Play

WIRATel 99=Te U SEsele BT araiaen Hg 310 Scadrl gaia #Fu= IR 907 B graide 36,

TS T T 96 hedlEal $oal BIET 9K aed ol 49 o fEaer

In question given below, an unfolded diceis @miven while four answer choices are givenin the form of complete

dices. Selectthe correct answer whichis formed bv folding the unfolded dice.

0S8 Ay Joo Sl iw =& s lp Clise Skl Ale o LS Lo Al Iy LS S s Sl iGin Jlsw 8 ids 2

T8 o s S Usd S muly i B s it ye i S Usa mes Kb

L1 -I‘_"i-l" . I P
A T T o (il o
|8

A.l

B. 1 &Il
C.I,IH&Il
D.LILIN&IV

Answer:  D. LI, 111 &IV

54

IR HER T QBTN Tl 33
Roger Federer is associated with —

L Lo« .
OR £ 2GR D)W A5l

A
A.Tennis
A puidt

B.d&ftica

B.Badminton

C.%
C.Squash
C. = Uil Sl
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Answer:

56

D70 BIUdET T8l

D.None of these
D.us 255 el -

AT
A.Tennis
A. s i

GET IT ON
Google Play

SR TETen e Afddda HHGR SRd dR A faenaf 7 saeiR afadaar ored agdr 3.

T HRUT 3 3T

If a teacher’s personality is weak it is a possibility that his students inherit this trait. The reason of this

saying is—

= lhe 8 J s e Cuagead o S Gsale il S Gl S Sl 1S ) 5 5 a8 Canadd (S Sl Rl

A.foemf g Rigrepia g agey 3

A.Student is the miniature model of teacher’s behavior
A= BBb paiie SIS 55 S sl ale il

B.faemdf s et adH sigdHxur dxard
B.Students imitate his teacher’s behavior
B.ow =58 do (S s, S o) il ale Gl

c.faenft fawrarea cwargd Sa SRydTd

C.Students pass through developmental stages
C.op =R i dalie G5 ale Gl

D fazmeaten Rieret g0 It o HiciTe e

D.Students get encouragement, if they behave as their teachers.

D_ug‘)s&c)g)jkéaﬁu\cgﬂcj;\ cL;a\)S\/\LAPJSU}JG;\SLE

B.faemf siuedt g ad-rd SHRul BRI
B.Students imitate his teacher’s behavior
B.ow =S do S s, S o) i ale (s

T 1 desT fhad. HTediar cridaedr T siid g} fardt ufRumime e 17 s@a?

A dice is rolled thrice. In how many outcomes is the sum of the numbers shown on thorn is at least 177

o Sl (S il Ny e sana S 17 oS ) aS Gae Ol paa My 1 s e (S JL 3 pilI Sy S

A15
A15
A.15
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B.4
B.4
B.4

C5
C5
C5

D.14
D.14
D.14

Answer: B.4
B.4
B.4

57 T Sidquf uftede AT exvamet, @reft fade (P), (Q) (R), (S) 311fYT (T) & U a1 I Srsha™
QRG] T; AR Jreltd Jeidt IR
P. STl SUHT dTedl SOl A JGal g SRfda.
Q. I BIcglTel YIS SIaUITTe! HHET ool 0T RISfaaan Hid ThT YReae fdl. e Hiegl
WS, Yhell TG,
R. BIegl 3ATOT S7esT el it Blal.
S. FeATA A9 A9 gidl, AT i YU US> bl ATel, GUT DiealH ST fS=1 e Y @reat.
T. U fGaxit PieglM SiTeTel Siariel STHiEd ool 3Mf0T $¢ fSmed gu Emgar i,

JAEHT HedTHoR AIeiades! HIvrd e Ured Sa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crane felt insulted and wanted to take revenge.

Q. He invited the fox to dine with him, and served boiled rice in a jug which he could not eat

R. A fox and crane were friends

S. The crane had a long beak, so could not take the soup, but the fox licked the dish.

T. One day, the fox invited the crane to dinner, and put the soup in a flat dish.

Which of the following should be the FIFTH sentence after rearrangement?

osbes @l o 1A% (P)e (Q)¢ (R)e (S) usl (T) =S usllsm 28 s i g e i it e jliss 0 S g Gre b S
el

P L lila Wl Yy 55 550 B e 0 S (e,

Q. W& LS i S 55 5 o e Sa Jsla DUl L) cga igen (S A S ald S (s5asl i,
R. 68 st (sl ) 65050 SO,

S. WS UleS 1l S s 3asl 08l gt S (3 (i 40 D5 55 sl (o ogaal @isn (S (b,
T WS e fn Dlsa Sl o )l sl esa iged (S eSSl € Gl S5l ¢ g S

§ s Lo saily alen L ()5S 2y S 13 Capy i Jlsd
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Answer:

58

Answer:

AQ
AQ
AQ

B.R
B.R
B.R

C.S
C.S
C.S

D.T
D.T
D.T

AQ
AQ
AQ

Alfered BRI § T

Mozilla Firefox is a/an —

oSl 3 ) ga

A TG Rty
A.Operating System
A. = s Sl

B.99-8TG R
B.Web- Browser
B.= uosl s

C.BTS IR
C.Hardware
C. = sk

D710 BIUdET T8l

D.None of these
D.oy &S = el

B.J9-8T&HoR
B.Web- Browser
B.= 003l s

GET IT ON
Google Play
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59 o fecien gafaiaey T Wsg Hast.

DIRECTIONS: Choose the analogous word from the given alternatives.
Table Salt is to Sodium Chloride as Baking Soda is to
oS el Kl gllae _—w dolie K s oy

P N QU S 2 Tom S S S o s ¢l S 30050 al g (3lai IS St S S,

AUICRIH wRSS
A.Potassium Chloride
A, 315 il g
B.UICRIH HraHe
B.Potassium Carbonate
B. Cui s IS auili sy
C.UCROH gIgINRS
C.Potassium Hydroxide

C. 28 55ua ailig

D.OSIgH FrEe

D.Sodium Bi-carbonate
D. Cuis IS sl pus

Answer: D IS PIEiHe
D.Sodium Bi-carbonate
D. Cusiso)S s s

60 Grelad®! Y a1 BV ?

A.dTd[ BT ddcll dlelddld.

BN B o Fred.
C.TTSl Barede- IRT 3{Tal.
D.fasrar AleRid S9Td Sasd.

Answer: C TSI BATeTd IR 3Tel.
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61

Answer:

62

P — O — X 81 et Yad HFERFTARIE Td 3¥d &1 IraL Hda- 341d
By suggesting P — O — X concept the Psychologist is of opinion that there should be balance between

P-0O-X- =l Usoilsonle S = BS A ol g il il SO S S iy gleads 1S sl S

AT, AR kil 31O I IIg et

A.Person, the other person & the attitude object
ASSoa 3);";3,—3‘ BY) uaxiﬁd ¢ padd

B.ST ki, SR Aokl SATIOT el
B.Person, the other person & imagination
B.&l jsai sl pads Sud (adl

C. o, B et 31 Sed-T
C.Person, the third person & Idea
C. LRl Ll padd £yt (adid

D.gTUp Id
D.All of these
D. =SS e 0

AT, AR TSI SO I AT

A.Person, the other person & the attitude object
A_i&,};_ﬂ 13‘5,-.3‘;&\ BY) uami)iga ¢ uadd

WrdTe T UF HIFTaay SROfaen G 310 &1 Fard) Al F60E aigen A6, SEgedl Al
arss dfadeard Hodl HorH] Aed] HGwuv] U CHd § T starad 38,

DIRECTIOXNS: In the following guestion, a design is given, marked as kev figure, You have to determine which 2
will be the exact view of the original kev figure seen from the reverse side of the paper.

206 o ol IS K ol A o LS oy o8 o o 8ol S S0 il g o s 1S s (A8 0 Jl gl =S il
Ty LS w3k ol oS

e At

Alain Figure
JEd sl

il

FeavraTe! AT HrFear
Answer Figure
S ol g

T

C
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Answer:  D. (D)

63 T WIeld g Bresoigdd arar ST el faciedr gy SR .
M, P, J, B, R, T 3Tf0l F UhT IgesTd dhaaTed g Saia 3HTed. B BT J T ST STS[al [T 318 St M &
ﬁa’mﬁrwwﬁ. P 81 B =T ST STS[ell faaRT S1f0T R =41 IS STl ga’l 318, T 81 M 91 dah [
e,

B =T ISTdIh g foaRT HI0T 3182

DIRECTIONS: Read the following information carefully and answer the questions that given below.
M, P, J, B, R, T and F are sitting around a circle facing at the centre. B is third to the left of J who is
second to the left of M. P is third to the left of B and second to the right of R. T is not an immediate
neighbour of M.

Who is third to the right of B?

o s SOl K a5l o5y s 0aad S Gl gles i3 as ke 1y

MePeJeBeReT U5l F o St s 8 ) S e sl S g oS85 S0 Bed nS sa o ol o il S M S
= omsd s GEL P B s st e i SR -2 1misd e ) S TeM -2 02 s o S

B¢ = 0S8 md —w ptils S

AR
AR
AR

B.J
B.J
B.J

CM
C.M
CM

D318} Rl

D.Data inadequate
D. = sl &3

Answer: B.J
B.J
B.J
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64 a3 @melia 3id-31eRi-forg oY T Siwogdd ST HR1 AT WTaid Tt ST 1.
R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6

a@g;ﬂaw@ﬁﬁﬁwu@mﬁﬁmaﬁamﬁﬁﬁaﬁwmww
?

DIRECTIONS: Study the following digit-letter-symbol sequence carefully and answer the questions given
below.

R*TJL2$D=M#8C %B<K1&AW?PE+Q@7F6

If the first fifteen elements in the above sequence is reversed then which of the following will be twenty-
first from the right end?

Sl KW s Hs) a5y S i i (S (el ol gl G (S0 o Culy
R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6

£ i € i | pua) gl A e i 0 8 e WS s i S S Gjave e Sl R

B.2
B.2
B.2

CL
CL
CL

D.$
D.$
D.$

Answer: B.2
B.2
B.2

65 T ATMETSC WU SIaBUN 3 318


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

A.1000 facg
A.1000 bits
A.1000 &y

B.1000 facq
B.1000 bytes
B.1000 <sb

C.1 axay facg
C.1 million bytes
C.1 &b ke

D.1 gRIag focq
D.1 million bits
D.1 &y cule

Answer: C.1 axe facy
C.1 million bytes
C.1 &b ke

66 T feaiedT Taiaiae ovTes d dTex dlel.
DIRECTIONS: Find the odd one out from the given alternatives.

S OIS S o e one Jolie K8 1

A

A.Daughter-in-law
A.sp

B.3MS
B.Mother
B.ow

C. S I
C.Sister
C.or

D.gar

D.Daughter
D.»

Answer: AT
A.Daughter-in-law
A e
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67 SR Rraror S U guTdt $fe ST d fdedn Som=an geat sRieR fgieH gR 9@iTen R died @@ g &
gRomy gidta

If teaching material is most effective and it is interwoven effectively with the lesson planning then it
results into—

U:““cA:?i‘CSU‘".93duubsdﬂ“:‘ﬁ)‘k)sj‘c‘“éué&uMWusé“JJ‘:1“):'.)““"5"&)3‘)‘“(5“‘:3)ﬂ)§‘_

A g fRrerepiear deelt

A.Replacement of a teacher in the class
A.bas S bl SOl e DS

B.faemff g R usdia
B.Exit of students from the class
B.UG b S ggale s S (38

C.ufteie Tien aufq TR Usdid

C.Exit of examiners out of Examination Hall
C.LusG S (piniaa — dl_" Olaial

D.RIc0! BEIe! ATel

D.None of the above
D.use (23S = upe )

Answer: D.d3l@U®! ?ﬂﬁ :nﬁr
D.None of the above
D.ow B 5S = ue )

68 TONHR F:
56842 x 657 = ?

Multiply :
56842 x 657 = ?

U L el
56842 x 657="7

A.34555421
A.34555421
A.34555421

B.37345194
B.37345194
B.37345194
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C.23777657
C.23777657
C.23777657

D.45667633
D.45667633
D.45667633

Answer: B.37345194
B.37345194
B.37345194

69 HERIG: SIA-dbald RIeauarsl Ugdiae Rigdb i YHeT 3
Generally in Child-centred methods of teaching, the role of teacher is—

= RS S (e stk (e g Usm S paoS g sk ale-

ATy gRIRE fRafor s

A.To formulate the problematic situations
A S S dsi S gsilla )pds

B.gaGTa! Qe Ut 11 AH1e UhiAd Hrul

B.To collect the possible material and resources for the children
B. 5 28 e Jlas sl dlse niae A S 05

C.gara =T igdid! ATs Ul HRUaN Hed HRul

C.To help the children in formulation of their hypotheses

C. A S 58 20 (e S5 (S mg pie S o) S s

D.ad 9d
D.All the above
D_(.\LAJ bJ}S.’lA

Answer: D. 9 9d
D.All the above
D_?LAS b‘)‘jshaﬂ

70 3T FATRHER T SR ST WTeerdd! HIurd WAyt S0 dend 3 3fwsar?

Which of the following precautions you would like to keep in mind while you are demonstrating a chart in
the class?

fom s UeSy g lad Lu (568 (e sl absiad (B3~ i ol 5 G oy S o pillae S s (e oIS Gl
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AR 3T fawarsh Teifid arma anfor Qref Hagar 3o sy 3R

A.lt should be related with your topic and having adequate relevance
A 2 5eS) Ciilas S ) e Uis Blaie g pase Sl m

B.g SHUgTd A9i{ep 30T IRdadre 3™

B.It should be natural and realistic in appearance
B_&%Uﬁ&\%dﬁ;)}\&)ﬁw)%\@g

C.d 3 SHIOT ARG YHTOMN SRI0T AT 31T

C.It must be accurate and in precise proportion
C.= s ralis Glhae e ) Sy m

D.ad gd
D.All the above
D_?LA:I bJ}S..J.A

Answer: D.ad ﬂa‘
D.All the above
D_?Ld bJ_’S.’lA

71 'PRESENCE' 7 el 31&Ri=T fabcll SiiedT 3iTed, SaTidh! e e JUiHTCTHTO Yearefie JU 31&R
3Ted?

How many pairs of letters are there in the word 'PRESENCE' each of which has as many letters
between them in the word as in the alphabet?

Lil 'PRESENCE’ $Use (o cisn ia o Cigoa (o 8 glhed SOl s Gw 2 G 58 Sy a (e

AUD
A.One
A.One

B.gH
B.Two
B.Two

cd=
C.Three
C.Three

D.dAdR
D.Four
D.Four

Answer: C.dH
C.Three
C.Three
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72 I T HIfg dlesigdes arar SfoT ara feeredr gy I .
M, P, J, B, R, T 3Tf01 F UhT 9desTd dhaaTed g aaia 3HTed. B BT J T ST STofal [T 318 S M &
ST SIS GIRT 3178, P 8T B T STeAT STS[aT [T ST R 2T JoTed STo[el GOl 3118, T 81 M AT dah1ed
EICINE I

M 2T IS g T HI0T 3M1R?

DIRECTIONS: Read the following information carefully and answer the questions that given below.
M, P, J, B, R, T and F are sitting around a circle facing at the centre. B is third to the left of J who is
second to the left of M. P is third to the left of B and second to the right of R. T is not an immediate
neighbour of M.

Who is fourth to the right of M?

o Gl SOl R a5l o5y Ol S el did o iy

MePeJeBeRe T sl Feow Ssein 2 8 ) Sesibh Sol S oS58 850 Bed w8 s o )pmti e 0sih S M S
= Vst e GEL P B s) ot e 08 SR 2 s s ol STeM -2 03 sl 08 S

M = 0S oy = o S

AB
A.B
A.B

B.T
B.T
B.T

CJ
CJ
CJ

PRIECAR AR kIl

D.None of these
D.uw 2SO

Answer: D .Jite! ﬁvl?ﬂ'sﬁ :ﬂ"aD[

D.None of these
D.o P58 = 0 O

73 A 60% Heaidbs AT 3Ted, 30% Heaids W 3Hed MM 15% Peaiws TR A0 BRA el
3ITEd. U TATU AT 96 Hed 3HTed. fohal peaips T fobar Te=h AEia?

In a village 60% of families have a cow, 30% of families has buffalo and 15% of families have both a cow
and a buffalo. In all there are 96 families in the village. How many families do not have a cow or a
buffalo?

o o ) S8 giey il S ONR% 15 ) on o b S 0% 30 on S8 Ol S O silula %60 e 038 S
¢ e o b S8 Gy S pslaila S G o)A 96 e 038 ol
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A.20
A.20
A.20

B.24
B.24
B.24

C.26
C.26
C.26

D.28
D.28
D.28

Answer: B.24
B.24
B.24

74 R 6 Heil Uoh S99 9 feauid HRe1 HRdwd, @R dd HTH HIUIMTS! 3 GalgR Udaen f[qaqie W fardi?

If 6 girls can embroider a dress in 9 days, then the number of days taken by 3 girls for the same work will
be:

Son S0 o0 8 S S ) S sS3IB e n (S8 o 09 K (S Gl S JSB 6 R

A14
A.14
A.14

B.18
B.18
B.18

C.20
C.20
C.20

D.15
D.15
D.15

Answer: B.18
B.18
B.18
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75

Answer:

76

Answer:

A5
B.4
C.3

D.2

A5

S{LATO ST gliedn Hel HHTHT glard
The communication in teaching is going on between —

= D0 da e e Julise al 50 (e g S —

ARrerep afor faemeff

A.Teacher and students
Al il ) sl

B.R1greb S1ftr gemeaus
B.Teacher and principal
B.dasi ) i)

C faemft 3nfor ureies

C.Student and parents
C.opdly sl ple lla

D.aRE fior HiS faemaff
D.Senior and junior students
D.slll yuigs Hol yiiws

A Rere amfor faemeff

A.Teacher and students
Aple a5l ol

GET IT ON
Google Play
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77 fd=r: Tt uyiaed vy famgra (2) 9l Ivrd e 9ed Il 832 (JR! 3 Jed Hleudrd Juférd
).

2/7 x 14/19 x 305="

DIRECTIONS: What approximate value should come in place of the question mark (?) in the following
questions? (You are not expected to calculate the exact value.).

2/7 x 14/19 x 305="

e S5 e oS IS sy i 5 ) = 1€ T il wiaedi L (058 y R (S () O 1S Ul (m ) gme 3 o pie iy
=)
2/7 x 14/19 x 305=7

A.75
A.75
A.75

B.64
B.64
B.64

C.46
C.46
C.46

D.78
D.78
D.78

Answer: B.64
B.64
B.64

78 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
Symptoms of the iliness include a high temperature and a persistent dry cough.

A.Eliminate
B.Incorporate
C.Comprise

D.Contain

Answer: A.Eliminate


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

79

Answer:

80

Answer:

arehr 25 Fefvarard Forear S€39r V00.25 & HEe 9ifea?

Which number should be divided by y00.25 to get 25 as quotient?

§ il Ul LS o8 |IOJE).25 Sdoc S J S Gboad Lol ek 25

A. 25

B. 50

C.12.5

D. 125

C.125

S T Iraol gie gR fawRid Pt et
Draw a man test developed by

g W 1S Gl a7 e o) 3

AT ure s
A.Pramila Pathak
A, Sy Sy

BT Hedl

B.Prayag Mehta
Bl Sl 5

C.3{R. IHfEaTHt
C.R. Ramalinga swamy
C. w5 Bl ol

D.TH.4. St
D.M.C. Joshi
D.fis> o)

A U@ UTo®
A.Pramila Pathak
A, Sl e
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Answer:

82

fresT: Ereer Ty fEaiean Ssaiar ST 3iea.

Hell/ Valuable/ Reify/ Plethoric/ Story

R UA® QAR S daa o bt Siyul Weg TR gidia:
DIRECTIONS: Following question is based on the given words.

Hell/ Valuable/ Reify/ Plethoric/ Story

GET IT ON
Google Play

If ‘'S’ is placed before every word then how many meaningful words will be formed:

Hell/ Valuable/ Reify/ Plethoric/ Story

s il e S 6 e WS G s

‘S,

AUD
A.One
A

B.gH
B.Two
B.}J

caH
C.Three
C.u8

DdAR
D.Four
D>

AUD
A.One
A

I Tleitel Hdr Iidida 2= Hel.
DIRECTIONS: Find the mirror image of the figure given below.

o8 LS Kb usSon atall o8 K o8 s aad 1y
A

%

&

8

S

S

B

(A)

(Bi

(C)

(D)
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83

GET IT ON
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T et faaiedT UyTd Ue faem 31 S | S1f0r 11 3R g ey rarelt Sifdhd dhaiet SHTgd. I STUR

gaid Iy ggiy fRasT.

faeum:

T4 UTeATI® §RR 3Ted. Hla! §RR Al T TR,

A
. Td UTeATIe T 3.
II. T4 J < WA 3MTRd.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and Il.

Based on this choose the option that is most suitable.

Statement:

All professors are intelligent. Some intelligent people are wise.

Conclusions:
I. All professors are wise.
Il. All wise people are professors.

U g3 2y S ol SOl e Jlgm 8 0 i il | sl ] - € GlaI S a1 s hse Ll ali (S Gl oo 8

Ol

o 0580 Kl jlagaans 428 G Cd iy i,
o

[ On Osls sy ol

[l O Sombs p sila ala,

A.FHaes FHY HHi® | FTUMN Sre o

A.Only Conclusion | follows
A~ Ciea | K 5 LY

B.%dc by HHi® || fAUMN S8 318

B.Only Conclusions Il follows
B. ~ati Caea || 8 50 KY
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Answer:

c.Fmd wai® | fdhar 1| e 3
C.Either | or H follows
C.ALI& 5 &Y ) e

D.PIUTdTe! Fspd SrgERe et
D.Neither | nor Il follow
Dl os -8 5 s SY er 558 e

D PIUIATe! fser s S e ATg!
D.Neither | nor Il follow
D.los & 5 &Y oer B5S —w02e

GET IT ON
Google Play

SR P S Sffr T ot 31E 318, R 81 T o1 G 3§, U 8T P AT HTS 31T 30T Q 8T R @1 TS 3], TR P

31fOr Q I ATd Hr?

If P is the mother of S and T, R is the son of T, U is the brother of P and Q is the brother of R, how is P is

related to Q7

NSP JT o2 & TR 2w PU L 2 e SBRQ Qe PEQ o i) lS

A3
A.Mother
Ao

B. 3ol

B.Grandmother
B.sal

c.ga

C.Daughter
C..

D. 1%
D.Aunt

D..2%

B.3fToh

B.Grandmother
B.sal
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85 TYTITST GT: WTcie drferent gof .

GKEF, IPC, LTY, PWT, UYN,

DIRECTION: Complete the following series.

GKEF, IPC, LTY, PWT, UYN,

- S daSae S 3m dd e pdieicnly S ) se

GKEF, IPC, LTY, PWT, UYN

A.ABZ
A.ABZ
A.ABZ

B.XBX
B.XBX
B.XBX

C.XAH
C.XAH
C.XAH

D.AZG
D.AZG
D.AZG

Answer: D.AZG
D.AZG
D.AZG

86 facial srgaracd : fag -3f1fir x, G8d 3fdhe 3 3MMUT2; W7 +6+3 x2—4d T fvell ?
Given interchanges: signs - and x, and numbers 3 and 2; then the value of 7 + 6+ 3 x 2 -4 is

o daxi 4 - 2x3+6 + 7 562 450 3 ssad sl ox gl ldle 1 il K i
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Answer:

88

AT T Tyied fadien T Sefid sfeR/=Tes e FasT.

TIGH:%ET::

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Grass : Green ::

.wﬁm)wlhd/uﬁmcmdiﬂac‘sda‘u;md\)ud:u,\;)mU_m.a

e oS
A.Rose : Branch
Agla: K

B.Sponge : Elastic
B.‘)bé“)}“ : G_ss.m\

C.Diamond : Shine
C.San 1 m

D.Red : Blood

D.oss g~

D.Red : Blood
D.os> 1 g~

The proportion angle between teacher’s body posture and the Black-board should be—

e U ol € gl gla s S35 Sl 51 £ S a8 Sl
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A.3(aTSl 45°
A.45° approximately
A.45 Ly 5°
B.3faTS 300°
B.300 approximately
B.300 s
C.3iaTsl 120°
C.120° approximately
C.120 L &°
D. 3Tt 90°
D.90° approximately
D.90 L&
Answer: A 3Tt 45°
A.45° approximately
A.45 Ly &
89 SO+ ERUE 'k, - ERUIE 4% FRUST 'S MO SERUNT - AR AT Aledia] ST
UdTel Y=l 3 &l
If '+ means 'x',’-' means '+,'x’ means '+ and’'+' means ‘-, then answer the
following questions based on this information.
_f-._L_:_.' o alais el Tl s ___,J. _‘-‘n]'l_._:,_- f“_}:'l C‘!_j_l &: gt et 1 P _;_Jll ! .T:IJ.:L.& "' 4 ._.]_Lm ) ._:I_-!:..n +! _ngl
21 -84+ 2-12x3 =7
A 14
B.9
C.13.5
D. 11
Answer: B.9
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90 I : WeTd fecied Uy FTel faum Sftr erg! fend sed. H=aTd: J1d Jiue d 37 SRidid )
ﬁﬁﬁﬁwwwwmmwmﬁmﬁmwmﬁw
aifcheresed B! d 3.
faum:

J<K20=2Z
A
. J>2Z
I.Z<K

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
J<Kz20=2Z
Conclusions:
.J>Z
I.Z<K

e g gl S Gilia s sy shidle Sl &1 Gn o sm s il gaS an S iy 628 (e g i~ e 1y
= sh Alilaie i L € LR L (e i3 ~S 3 S Al IS b Gl ey sl oS, ome fled ity K 0l oo 68 K i
= LS soom S iy K

bl

i

J<K>O z

J>Z .
Z<K.

A5y g || FhY § alele! B ATeld

A.Neither conclusion | nor conclusion Il is true
Al e mll 2 G iy

B.| a1 1| Tt T fApy TRT 3R

B.Either conclusion | or Il is true
B.LILI = o ans

C.Wad || fIpY WRT 318

C.Only conclusion Il is true
Cﬁaz\:\.\ &_'e)...a I = Gy

D.Wad | fAsh @Ry 3mg

D.Only conclusion | is true
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Answer: C.Td Il FshY R 31g
C.Only conclusion Il is true
Coraii dipa |l = 0

91 fycer: mnferasT quf w1
AT, CR, ?,GN, IL
DIRECTION: Complete the series
AT, CR, ?,GN, IL
58 daSa S 7 ol

AT, CR, ?, GN, IL

A.EP
A.EP
A.EP

B.PE
B.PE
B.PE

C.DP
C.DP
C.DP

D.PD
D.PD
D.PD

Answer: A.EP
A.EP
A.EP

92 QYT GUTe TRa! fohdia faeh! dxal TuT of Araed urult (Gaduu) Iuersy) firesdl Sfifor amges @ran
9.09% W1 gdl. 1 ferex oy yrogre yaor fasdt 31

A milkman sells the milk at the cost price but he mixes the water(freely available) in it and thus he gains
9.09%. The quantity of water in the mixture of 1 liter is

% o5z b ool sl 2 Us Jeld (Rliiand Ly ysh mlalJT) (il e 0l (S 2 BS il g 8 g Caedl SRY Saagn Nigang
= e (S G g S pe S L o LS 2d518559.09
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A.83.33 Tt
A.83.33 ml
A.83.33 il Lk

B.90.90 et
B.90.90 ml
B.90.90 sl Lk

C.99.09 forett
C.99.09 ml
C.99.09 il L

D.fAfya Har Aq e

D.Can’t be determined
D.USws 52 e o slxa

Answer: A.83.33 fia
A.83.33 ml
A.83.33 Ll L

93 e Wl Xecid! SUS AVeaHIRMIAR HISUlT B,
(1) Intrinsic
(2) Intrude
(3) Intricate
(4) Introvert
(5) Intrigue
(6) Introduce

DIRECTIONS: Arrange the following words according to the English dictionary.
(1) Intrinsic

(2) Intrude

(3) Intricate

(4) Introvert

(5) Intrigue

(6) Introduce

(S e S B b s i Gildae S il (g5 Kl 1yl

(1) Intrinsic
(2) Intrude
(3) Intricate
(4) Introvert
(5) Intrigue
(6) Introduce

A3,51,4,6,2
A3,5,1,4,6,2
A3,5,1,4,6,2
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Answer:

B.3,5,1,6,4,2
B.3,5,1,6,4,2
B.3,5,1,6,4,2

C3,1,54,6,2
C3,1,54,6,2
C3,1,54,6,2

D5,1,3,2,4,6
D5,1,3,2,4,6
D5,1,3,2,4,6

B.3,5,1,6,4,2
B.3,5,1,6,4,2
B.3,5,1,6,4,2

GET IT ON
Google Play

94 T : WA s THTd G A | 317 11 fdcla 3ed. 3 fau™ TdhaR W HRUT 3R bdrd fdhdl W
HRUME RO 31 Whdrd. Jide! T faem 3aR faurrar ulRomT oy Tt il faum arer sifor

WAUD! HIUIAT IR Ui T gl faummea egi= guiq sar o 33T,

faum -

1. 3T T HIEtE! fadd B Wbl
I1. 31T O ©T aTd HedET U 38,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer

choice correctly depicts the relationship between these two statements.

Statements:

I. We can get anything with money.
Il. Today money is the most important element.

by 53 el i 1y | g 1T 880 cliby mon 8 00l on S @l Sl a5 s b hsas 3l
Osisd O A S Qa8 8y 2 S (S Al ) 0 5y il st Ui g0 8IS 2 s Ol SO (e il

S il (S S Bl (e 3 S iy

Sl

| = S5 S deals (o2 43S oo o o
-z pmie ol e e i -

A1 T URUIH 31T 31107 11 & T dTchTes HTFOT T HRUT 3Tg;
A.lis effect and Il is its immediate and principal cause;
A g | e gl sl = A - = s bl sl )8 (S o
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Answer:

95

Answer:

B.1 g QTchTed SITOT T DHIRUT 3Tg STIOT |1 BT T URUMH 3Tg;
B.l is the immediate and principal cause and I its effect;
B. s gl | e gl Lyl 2 s by Hdl s I o D3 S Gl

C.1 BT URUMH 3118 U || § T dIh1es HTIOT T HRUT ATal;
C.lis an effect but Il is not its immediate and principal cause;
C. i gl | e g S = SV - = b s b ) 58 (S )

D11 BT TR 318 TR | § AT dlchIes T Td HRUT ATeH;
D.ll is an effect but | is not its immediate and principal cause;
D. i Ol 1 et Ol (8 = S ] e = 3 s s Do) 58 (S )

B.1 g dlchTcs HTIOT UG HIRUT T8 10T 11 BT 1 oy 3MTg;
B.l is the immediate and principal cause and I its effect;
B. i gl | el Gl Dl s by Hgl B I = D3 S Gl

SR STl GF fgad aneft IAGaR gidr. TR ITFR 3 fGadi=il 1 IR a?
If two days before yesterday was Sunday. What day will be 3 days after tomorrow?

0 51 00 LS w033 31 S S 55065 gl Ly 0 2 e IS S

ATHaR
A.Saturday
A

B.HHAR
B.Monday
B.ox

Cfdar
C.Sunday
C.s

D.H3dR
D.Tuesday
D.J&%w

CXfdar
C.Sunday
C.J‘_}:“
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96

Answer:

97

DIRECTIONS: Completethe series bv choosing right figure from the given choices.

=S JeSo 58 a5 S sl S S qumis o Gl lisl B s by

Problem Figures

i

Fd 3 L]

8 Z|8% —*8 =

(B) (C) (D)

ich-Sie<aT TBT UHR 3ed
The main types of Black-board are—

R f;\.uﬁ\ H\ S ol AJ3AS-

AdHS! Kib-dIe
A.Wooden Black-boards
Al a3 S (555

B.fiAe <iop-ars
B.Cement Black-boards
B.oliw ~iai S Cuiagus

C. PR P IS
C.Glass Black-boards

Clolpw a8 S Al

D.a3d Id
D.All the above
D_?LAS b‘))s-.lﬁ

GET IT ON
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Answer:

99

WreaUD! SO YU IR HAM fod 3ed?

Which one of the following has fractions in descending order ?

$ 2 e (a8 QB o US  e ) seS i aa i

D.a3d ud
D.All the above
D.?LAS b))S-’JA

AR Ueft SIHIRUG HI0TT ST 3182
Bharatpur Bird Sanctuary is located in which state?

= &l ne iy ) (S (5 aSian I s e

A.FlcH

A.Karnataka
A. S S

B.3ffan

B.Orissa
B. ~u3

C.HS
C.Kerala
C. AIys

D SR
D.Rajasthan
D. Ol

D TSI
D.Rajasthan
D. ol

8 9 4 3
(A) i TR b
911 ¥ 5
4 3 9 8
(B) PRI e [
Z75 71 -9

GET IT ON
Google Play
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34 9 8

(C) N

i U

8 9 3 4

(D) R

9115 7

Answer: B 9 3 4
(D) R

9 AL 5 F

100 T U URATAT U Y fauied IR faem sfied Sai=arara A, B, C 30T D 31 IR fau™ 3iiea.
HHAR faumi she! HasT sl uyH faum gu=a1 faumrar gaad, $iftr qie! faum afdbeesed vg@
ey ad frrfsd srid.

T THR HYT fafed fdhar sitaaiya ferfed.
A. dt w1 fagid e,

B. o &1 ferfe.

C. di Shamafea fafea.

D. it Sita=rafia fafga g,

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

She writes either stories or biographies
A. She did not write stories

B. She wrote stories

C.She wrote biographies

D.She did not write biographies

i S s Sduie aand n K 5w dli S (63 gl oot S e s s Sea o ales SOl e Jlse o il
op Gae S gl S e ihaie daa 93 ol by S el sl (S Ales o e sd Ales S Ul

Jiin ST o S JlS Lo
AN G US55 Gl -
BuseN Jils = il -
CuseX Qlin ol 5l

DU G Qi I 5 Gl -

A.AD
A.AD
A.AD
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B.DB
B.DB
B.DB

C.CA
C.CA
C.CA

D.AB
D.AB
D.AB

Answer: B.DB
B.DB
B.DB

101 40 GATeaT A, SoTdier g1 TR 25 T HHIBIAR 5. TR STl g I fdhdl hHiBIaR SHT 3 ?

In a row of 40 boys, Satish is 25th from the right end. What is the position of Satish from left end?

40 Sl 2lie LS oS i iler e 15 25— las Gl ¢ gae SIS (S (S5

A.(a) 10 =T
A.10th
A.10th

B.(b) 15 T
B.15th
B.15th

C.(c) 30 &
C.30th
C.30th

D.(d) 16 &
D.16th
D.16th

Answer: D.(d) 16 Ul
D.16th
D.16th

102 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Had | completed the assignment?


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

Answer:

103

Answer:

104
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A.Had the assignment been completed by me?
B.Have the assignment been completed by me?
C.Was the assignment complete by me?

D.Was the assignment being completed by me?

A.Had the assignment been completed by me?

TAYd Hacard! AdheuT T WA Hudrd el 3MTg:

The concept of fundamental duties has been taken from the Constitution of:

JERE- T [ — Dyl S il i gl

A.3AR®T

A.America
A. Sl

B.IRM
B.Russia
B. b9

C.3ds
C.England
C. Lkl

DS
D.Germany
D. s

B.XRE
B.Russia
B. w0

H1ies] BT 3Tgd?
What are the mangroves?

Som LS 5 K

A.3[dI3ed o
A.High Altitude Forests
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105

Answer:

106

o= fEoear waaiEyE Aol 9ot STomd A1 3T e,
DIRECTIONS: Complete the series by choosing right figure from the given choices.

S JaSo 5 alulw oS oo 58 KA mms w gl kel 8 s robly

B.gdgardl o

B.Swamp Forests
B. s Jabs

cyUHaT

C.Thorn Forests
C.&a o g

D.adt®! Uha! g

D.None of the above
D. 0 S s e Yo~ paie

B.gdgalrdl o+

B.Swamp Forests
B. J&ia i

Problem Figures

e J_ .2 » i
x T x 4= o
1 2 3 &
Answer Figures
- * l a x
e 0
T + 1
(A) (B) (9] (D}
A. (A)
B. (B)
C.(C)
D. (D)
B. (B)

Fill in the blank with the correct article.

She plays both

A.the

violin and piano beautifully.

GET IT ON
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B.a
C.an

D.No article required

Answer: A.the

107 T HIOIT STt anl, T, U g=fad?
Which one of the following represents Brinjal, Meat, Vegetables?

€2 1S o S o etad K (K SIS S s e )

(B)

(o) @ O
proner (o) @ O

108 FESIIdc Sa-Td HTAS o ‘SIS Al STed Hald FiT TBUrdTd

The instinctual life forces that evergises the “Id” is called as
= U LS Gl On Flaing o DB S ALl sa (i B Sha g ki
A.3fdl 3EDBR

A.Super Ego
A g2 el
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Answer:

B.HeT®

B.Projection
B.o_nlas

C.hHANAT
C.Libido
C.alb s

D. gYAHRUI

D.Rationalization
D. dasu

C.hHANAT
C.Libido
C.alb wia

A. 28
B. 30
C.35

D. 27

B. 30

GET IT ON
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110 I T HIfg dlesigdes arar SfoT ara feeredr gy I .
M, P, J, B, R, T 3Tf01 F UhT 9desTd dhaaTed g aaia 3HTed. B BT J T ST STofal [T 318 S M &
ST SIS GIRT 3178, P 8T B T STeAT STS[aT [T ST R 2T JoTed STo[el GOl 3118, T 81 M AT dah1ed
RISIRY AR

TE&T@H&W@WTW%%?

DIRECTIONS: Read the following information carefully and answer the questions that given below.
M, P, J, B, R, T and F are sitting around a circle facing at the centre. B is third to the left of J who is
second to the left of M. P is third to the left of B and second to the right of R. T is not an immediate
neighbour of M.

Who is second to the left of T?

ol SOl 8 e ol G5y e s S Glaslae J ke bl

MePeJeBeRe T sl Feow et 2 8 ) SeyibhSol S oS58 850 Bed w8 s o )pmti e 0sih S M S
= Vst e GEL P B s ot e 0 SR 2 s s ol STeM -2 03 sl o8 S

T2 08 msd el S

AF
A.F
A.F

B.M
B.M
B.M

C.P
CP
(O o

D.J
D.J
D.J

Answer: A.F
A.F
AF
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111 fAd: @rel faaa uy guf Arferdrar neTikd 3med. a1 Ul Hifeldd, BTal 31eR T8I 3MTed. dvg Tafg fAgst
U Uil i 31eR a1 3ed, Alfdddid Ydacd Ure 31eR fAgeT .

ab---bc—e—c——ab——a——

DIRECTION: Questions given below are based on the letter series. In each of these series, some letters
are missing. Select the correct alternative. If more than five letters are missing, select the last five letters
of the series:

ab---bc—e—c——ab——a——

$neefciam K. s SR g oai 8 i (S e L 0 Jeldie g s OV g 20 e Culy
= S5 7l 63

ab---bc—e—c¢c——ab——a——

A.cbade
A.cbade
A.cbade

B.deabc
B.deabc
B.deabc

C.edacb
C.edacb
C.edacb

D.edcba
D.edcba
D.edcba

Answer: B.deabc
B.deabc
B.deabc

112 g ssfht 8 TR Bl
Bhimsen Joshi was an eminent —

Dspdia SOl (e Cpase

A FdRdIgdh
A.Sotarist
Aon s Sl b


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

Answer:

113

Answer:

114

B. 91! dlc®h
B.Flutist

B.ow s S ol

C.Imah
C.Singer
C.on K.

D.IRIG — G
D.Sarod — Player
D.ow s Sl 2

C.IMgdh
C.Singer
C.o» SK.
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Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

A slow sad song often sung at a funeral

A.Dirge
B.Grave
C.Epitaph

D.Mortuary

A.Dirge

WTefieTieh! DIvIdT ST Faid HIg! UMY Ugd 3MTe?

Which among the following is the World’s largest Wetland System?

?‘/__}Ladjscuugadgﬁﬁ;)mewéﬂA\ngug_u\S@A

AUdTd

A.Pantanal

A.diy

B.UEIed

B.Everglades

B.os3K 5l

C.3{IH1aT

C.Okavango

C. S8y
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Answer:

115

DAY
D.Camargue
D. S as

AUdTd
A.Pantanal
A.Jiy

GET IT ON
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faem:

FHard HIY:
|. AT $eRC ATORUIATIRN G, AT

II. GAAT YRR SRPpaiiagd R TRY .

Statement:

Internet is exposing children to different ideas and they have no knowledge of Indian culture.

Course of actions:
I. Stop children from using internet.

Il. Start teaching children about Indian culture.

b

= O A 5SS el il el ) G ) S bl ailide sy (S S Sl

Jee Aa8Y:
Sy e ool S i 1 S e

o S & a0 Ui aula (ae oSl S SalS ol S (s

AT | 3TEFA 38
A.Only [ follows

A Cipal| K5 &Y

B.Whad |1 3ERUI $HRd 31T
B.Only Il follows

B. Ciya Il & 5 KY

C.UHR | fbal 1l 38 3118

C.Either | or Il follows
CALIE 5 &Y S e

D.| fohaT Il SEUD! BTETe! SERU & ATal

D.Neither | nor Il follows
Dol osh 8 5 &Y oer (B5S —m 02e
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Answer:

116

Answer:

117

Answer:

B. T Il 3FIRRUI HRd 3T
B.Only Il follows

B. s Il & 5 &Y

Tl WeBTg HRATR TRIRT I&1a<0! T Sfifd AigdT Idrd
Examples such a dancing athletes craftsman can e put under

= s S il ) Saley) Kasils S 7 5k el sk S

A TR gfga
A.intrapersonal intelligence
A.cild (S Gl S ol il

B. YT gfGa

B.Linguistic intelligence
B. il L)

C . qaHHIqSI® gfgd

C.spatial intelligence
C.ld 8.

D RN fhHards
D.bodily kinesthetic
D. s Slme Slaua

D IR fhHards
D.bodily kinesthetic
D. s (Blae Jleus

R T YT AT e HI0TdT 2

A SIS

GET IT ON
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118

Answer:

119

Answer:

faegat a1 Trsaran fovgrlf <reg iorar 2

AfomR
B.334Ul
c.fowru

D.yd

B.3{T6dUl

3NSTET 3Me —
ODD is

=eded

A3 e fegsitey

A.Oppositional defiant disorder
A.CulSE S oA elds sl

B.3MiforTel fSth fewsiigy

B.Oppositional defence disorder
B.culKid (S oA el alxia

C.HfaguRHd fEtha fegaiier
C.Occupational defence disorder

C.alss (S o)A ey Al g i

D. 3 Saaude fegaiies

D.Oppositional development disorder
D.culSs (S (oA S 5 allaa

A SO femre fegsiis

A.Oppositional defiant disorder
Al S ol A eliy slaaia

GET IT ON
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120 T & faE™ ST IR IR sy, 1, 11, 11 307 1V T3t 3ired. 8 faem arT=ua: 1 axgiRucuern fia
3E A T 3R 3 . fedeamie! w1 sy fEdedt faumias ad! dledl 33 Udhd! § qwt

BRATE 3R, I IR Gfeid .
faem:

(a) 94 FTh AT 31Te.

(b) PTET TS X! 3Te.
e

|. PTET XA FaTh 3MTed.

II. Uha! W FaTh gl

111, 99 eTaftRey T SR,
V. T4 g1 Al TR

DIRECTION: Two statements are given following by four conclusions, I, Il, Ill and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) All clerks are typists.
(b) Some typists are stenos.

Conclusion:

|. Some stenos are clerk
Il. No steno is a clerk.
II. All typist are clerks.
IV. All clerks are stenos.

uﬁ&ﬁﬁm)ﬁu)‘a)\i)@ﬁﬁmjdjﬁg\g_ Lelle TH D) |V_Qﬁa‘5uyc'\?sd,\%)§\ccilj}u&u)délﬁﬁuojﬁ%\.
L 50 DS —as Ciiin g o LS L) )y psh (il e gpadd S S0l (S e Cas (s ol

AN

o S U Gl s

Ol leal:
o s S il SIS s
o ks S s S qalf S

o SIS las K aas

= ot SO i S5 £
Mlop S8 s S8 bl
IV i K SIS ol

A.Td ISy SR 1
A.All the conclusion follow
AU“:’ cLu.uJJ CAJA ebd

ARG ERSRUEIF
B.None of conclusion follow
B. = u Sy mada xS
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C.UdHeR i fdhaT gERT Wrefteryam
C.Either | or Il follows
Col Ul = o

D.%de5 IV 3 TISU &d
D.Only IV follows
D yalV oo

Answer: C.UdhdR I fdar gIRT Wreitaymo
C.Either | or Il follows
Col Ul = o

121 T Sidquf ufvede AT exvamet, @ faad (P), (Q) (R), (S) 31f0T (T) & Urd a1 I S a™
QAT BT, AR Tete g SR .
P. SFTCHTAT S{YHTH dTed T I Sgal 9 3R1dd.
Q. T Bl YIRS SIaUITTST SHET dal AT FRifaciar HTd Tt PReAe fodr. e dieg!
W3, Al e,
R. Picgl AT §TesT GIY fi Bidt.
S. STeATe did A9 gidll, AT dl YU U3, [bell Ale!, TUT Dieal ST fS= e Y @leat.
T. U o=l PieaiM ST TeTa Slarae THAd o SftT $a fExmed gu e fea.

YA HedTHoR WIeitede! HIurd e faway sRia?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crane felt insulted and wanted to take revenge.

Q. He invited the fox to dine with him, and served boiled rice in a jug which he could not eat

R. A fox and crane were friends

S. The crane had a long beak, so could not take the soup, but the fox licked the dish.

T. One day, the fox invited the crane to dinner, and put the soup in a flat dish.

Which of the following should be the THIRD sentence after rearrangement?

ostex &l o iy (P)e (Q)¢ (R)¢ (S) sl (T) =S Usllsws =8 0 2 ey ¢ s G ji o sy A S by |y e by S
a0 Gl

P. L s Wl Y 55 55l K e 0 oS Db,

Q. b UigSu 0 S 55 53 L ae S Jsla S oyl cga ised (S A S ald S 5505 i,
R. 68 Casd sl ) 53050 S

S. WS UeS 1l 5 s3asl 08l gt UgSau (3 (i 42 s 55 sl (g (ogaal isn (S (b,
T. W0 e n Dlsa Sl o )b sl esd Ciped (S eSSl S Gl 658l ¢ o S,

§ s Ui |peatialens L S 0y S S capyiojlig
A.S

A.S
AS
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B.P
B.P
B.P

c.Q
c.Q
c.Q

D.T
D.T
D.T

Answer: A.S
A.S
A.S
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122 ARE 3Ad HHNE g GHgYS AU &7 25:49 AT UIRRIG 3MTed. Tl STHd OR S
3HA?

The areas of two isosceles triangle with same vertical angle are in the ratio 25 : 49. What is the ratio of
their altitudes?

¢ o LS Candii 1S ek 5) S0 .0m pe i S 49 125 ) S Calfia (4Ll (s shusia 50 gilas S K (52500 o

A.5:7
A.5:7
A.5:7

B.25:49
B.25:49
B.25:49

C.5:14
C.5:14
C.5:14

D.7:5
D.7:5
D.7:5

Answer: A.5:7
A.5:7
A.5:7

123

 foclt 1Y T 3T BT ! T aTaTciel [aRIV0T sl
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A fodt
B.IY
C.Tq

D. 318 8!

Answer: B.X[Y

124 AT 1 UHaed uarg A 01 B g wfgd g faum faedl sed. SR Qa0 gl $rcedl deiaRieR
A A AR WIehd A sRISR 3ed 3R IS o IRg IR [rgT:
4 Hey Uroft ST
HIUIAG! UToft Hg Al WU,
A: DU TG &g el
B: BIUIG! Pg MY HGY TR,

DIRECTION: In these questions, two statements are given, followed by two inferences A and B. Assume
the statements to be true even if they are at variance with the known facts and then mark your answer
as:

All ligour is water.

No water is bitter. So,
A: No liquor is bitter.
B: No bitter is ligour.

}J@,awéo;‘uﬁc‘édaat'\_gja‘WQY\}MQ\;@@AJJ\Bwﬁwﬁdﬁm)aéu\;@.wc‘éda
S 20 b o ga W) Gilae S Gl ey sl 0 oo S 3l aslea p shale oy aa 81

=l Sl el
ol - s 138 iy e

Al -2 0 s A S8
B: - = 0 S S 68 S8

ASR $da Tag (A) SN
A.If only inference (A) follows
A esxi G pa (A) - =2 BS suon

B.SR %9 YT (B) 3Ty,
B.If only inference (B) follows
B. i3 <o pa (B) - = BS Gm

C.SR 3! TTid (A) 3M1fOT (B) 3RIeT.
C.If both (A) and (B) follow
C.(A) L5 (B) -un S8 Goom usso
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Answer:

125

Answer:

D.SR gie! gafg (A) 3T (B) 0.
D.If neither (A) nor (B) follows
D.5~(A) &~ (B)-ux S8 ssom

C.SR 3l TTid (A) 3M1fOT (B) 3R
C.If both (A) and (B) follow
C.(A) sl (B) - 5.5 5 055
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3G gdar 20 HY. ATerd SITcl, T SIdidhs desd! 0T 30 H. ST, T ot STdids dad! AT 50 T, Trerdl.

TR 31T A 1S ST SR 38?2

Keshav walks 20m to East, and then turns right and walks 30m. Then he turns left and walks 50 m. Now,

which direction is he facing?

Kl @l o la 5050 sl 2 U5e 0l os gy - = Ul i 30 sl = B30 0l gy ¢ Ula 500 20 ke (S (38 548

f = U Qan S E )

ATRH
A.West
A

B.Od

B.East
B.3 0

C.3™N
C.North
C. JLi

PRIECAANGI Il

D.None of these
D.oe S e O

B.Ud

B.East
B.3 e
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126 il IR SR AT Y=aTd DR 3101 HTg! SR AR ol STdldbs dedd Wi Ioldidhs dbd.

AR ot gg1 Sdidbs desd, Tl ot HIureT faRH arerd 3a?

Shruti starts walking in the north direction and after walking some distance she took a left turn followed

by a right turn. After that she took left turn, now she is walking in which direction?

O 03l e s se o) o Fade et e S s eaS oyl oSS g Ul ik (S el 0

o da e pS oyl 5 o e a sl il (Sl

A&
A.South
A.mss

B.3«®
B.North
B.Jwi

cgd

C.East
C.35%

D.Uf%eH

D.West
D. s

Answer: D.Uf%aq

D.West
D.cyx

127 T Wieite gyiaed fooiedn Taiaiaya Sefid SieR/Rse/aeTm Hasr.

14:20::16:7

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.
14:20::16:7?
.wﬁuﬂu)w/kﬂ/u)awcuddhﬁa:gdd ‘U:\Ad\yd:};\/\;)-\:bﬁ ‘e

14:20::16:7?

A.22
A.22
A.22
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Answer:

128

Answer:

129

B.48
B.48
B.48

C.10
C.10
C.10

D.32
D.32
D.32

A.22
A.22
A.22

WreaUd! Y aTHI HI0 ?

A 3{TIT GATSITE et STl SIive 3iTe.
B. 3T GHTSI fabelt ATel GIRE 3R,

C. I AT fdclt HATHAY SN 318,

D. 30T FHTSId fohdl SHHaTeie S 3e.

B. 30T FHTSTT fobdlt TRl SIRE 3MTR.

GET IT ON
Google Play

HEAT: TR F9TT ScaUaTel TH HedT AT HFHAE A Hpar

HaRg 3E?

DIRECTIONS: In the given questionfind the answer figure in which questionfigure is

embedded.

e 05 S Gl o Sl 320 oS Gl s oS UK oS lsa e Sl =B sty

(Question Figure

Answer Figures

A

(B)

()

(D)
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Answer:

130

Answer:

131

C.(C)

D. (D)

A. (A)

e B0t Gareda g Aevarre! tgaeiR el TR FHar?

GET IT ON
Google Play

Who amongst these devised systematic tests to measure intelligence of children?

§ oS dag) Gufipliie LS iaila Gld (S g S 0S e e O

A SfEs IR
A.David Wechsler
A LS 353

B.TecH
B.Galton
B.cAL

Cc.8e

C.Benet

C. &

D.8ld8 MeR
D.Howard Gardner
D8 &34

A SRS IR
A.David Wechsler
A, LGy 558

YRGS UY 3 3Rl arfes!

The introductory questions should

ke U gy ) s il

A faematen gafen gmmeR sumfd

A.Be based on previous knowledge of the students
A e pele Al S ale il

B. 6310 LA A

B.Be easy and not difficult
B.s ~ JSia sl 5o Ol
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C.UHT 4WAd 3 Uifgerd

C.Have linkage

D.a3d Id
D.All of the above
D.(:LA...\ D)_,S;\A

Answer: D.ad E’qc
D.All of the above
D.alai oy sSie

132 @l HedEed BEer g gifaat, Wk Qo gfaar W ado-ufeTs.
HIFHATET HIUTEAT AT Webl5 HHeledl Wd FaTE dgcedl Hell guadl?

In the following figure triangle represents 'girls’, square players and circle-coach. Which
part of the diagram represents the girls who are player but not coach?

L SRS 15K Bl (S il 5ol (gat TS e M USST Clia a W RS S e e
Tz S Al 5068 sn S Aaila (S K3

Coach

> players
A P
B.Q
C.R

D.S

Answer: B.Q
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133

Answer:

134

GET IT ON
Google Play

AL Wiellel Y9I FEETAT U dhsdlel e HiGdld graidedIg IoT o5 Hidell 8.
ITICEd q?ﬁ?lm‘égjﬂ 3ol 3Tehcll ToiasT Sl s UScdlday Seldsceedl hEGH Ta®T grEde.

DIRECTIONS: In the following question a piece of paper is folded in the manner shown in the question figure(s).
Select the figure out of the answer choices showing the unfolded pattern after the punches (cut).

=3 gl

Question Figures

lgS3 i lge

Answer Figures

- Talrrs
o ! H i

A. (A)

HIRT T I URIS 1R -
Kaziranga National Park is famous for -

= Osrie Sl e s B palS -

ATS

A.Rhinos
AJug

B.dMd
B.Tiger
B. &

Cc.axvl
C.Deer
C.ox

D.gxil
D.Elephant
D. &b

x

(©
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135

Answer:

136

ATS
A.Rhinos
AJug

S a1 T SARURA d7Tes $adl, TR grl
Rishi keeps himself isolated from the rest of the class, you would

LSS e S, Kl SIS 058 e S iy SR

A HS HRUT JHSA Tl Uad BRI
A.try to understand the underlying clause
Al 2 US GRS (S Seaan S (35 9 5e Ul

B. Tl 3ok faemafurg $ifde aves Sara

B.keep him more separated from other student
B.oS, K mje s sale s 4 s

C. gAY S AT Hifgdl Suard ardt

C.principal should be informed
C. s US elbae S s

D.aiede! HIvIda! el

D.none of the above
D. ¢ S e Yoz

Ao HRU GHSH YUl Ud DRI
A.try to understand the underlying clause
Al 2 US (S (S eman oS 325 se Ul

fRI&107 U T 3MTg?
What is a teaching method?

=2 LS )i Ayl SO

A Ddl
A.An Art
A S

B.fa3H

B.A Science
B. it SO

GET IT ON
Google Play
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Answer:

137

Answer:

138

C. T 3ATIOT fagH gt

C.Both Art and Science
C.ussn il gl B

D.®Ta! 9T Xehd AT

D.Can’t say

D S L 625

GET IT ON
Google Play

C. el 3foT fagm= arg
C.Both Art and Science
C.ussn il ol B

1 oherar fAfHeHe Fuiaikd .
Convert 1 second into min?

1900 (e St S TS

A.0.016667 &
A.0.016667 min
A.0.06667 %%

B.0.026667
B.0.026667 min
B.0.026667%:e

C.0.015667 T
C.0.015667 min
C.0.15667%xw

D.0.013667 f&
D.0.013667 min
D.0.013667%:e

A.0.016667 f&
A.0.016667 min
A.0.06667 &%

p2+5p+6=0 U1 TGHIBRUTT o 3HTe:
The roots of the quadratic equation p2+5p+6=0 are:

S5y S Gl sbae 1 e p245p+6=0 Lt
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Answer:

139

Answer:

140

U OO
b w b
NN

(A) 109

B) V107

©) sz

il aid Slded U8 3Me-
The closest planet to the sun is

ook i e S s

GET IT ON
Google Play
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Answer:

141

I Giete gyiaed fociedn yataiays Sefid sieR/Rse/Ae Fasr.

A g
A.Earth
A

B.9Y
B.Mercury
B.s_ S

C.AuA

C.Neptune
C.osi

D. T
D.Mars
D.oke

B.9Y
B.Mercury
B.s_S

OSY : Gelill : : &l : 2

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Man : Boy : : Woman : ?

.wﬁuﬂu)wlkﬂ/u);ﬂhjn:»déhh:gﬁd‘u...\Adb.wng,sa*)mLL\M

$ e TS

Aga

A.Girl
ASS

B.gaw it

B.Daughter
B.

C. 1=l
C.Niece
C..>ie

D.3Ms
D.Mother
D.Ju«
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Answer: A.Hﬂ’ﬁ
A.Girl
A.S3

142

Answer:

143

A B ot garht . B &1 Q o 9101 3115, @R Q < fobll gard Sfgun Sfed?

A is the daughter of B. B is the sister of Q. How many niece does Q have?

BA -2 S QB = oe S Qf = dhaile S8 (S

AUD
A.One
A

B.aH
B.Two
B.ﬁ

WIftd S AR TR Pl Sild-

Formic acid is produced by—

=l

A T4t
A.White ants

B.3R

B.Cockroaches
B.zssSs

C. |1 Jw
C.Red ants

C.i JY

D.s¥
D.Mosquitoes
D. e

C.ara g
C.Red ants

C.oi> JY

Syl S5

GET IT ON
Google Play
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cdH
C.Three
C.us

D.gT0e! ATg

D.None of these
D.ux DS e )

Answer: AUD

A.One
A

144 foemfera smfor syl ufawn fiesfavarardt 81 Smar aravdl-

To get the magnified and virtual image mirror is used—

=2 s LS Jlawinsd 1S 8 3 S S Jeals o pemi s Slae sl 53

AFHTT AHARHT
A.Plane Mirror
A oy

B.Sfgdeh3man

B.Convex Mirror
[SRSIEEENPLS

C. 3faviier3man
C.Concave Mirror
(OWSTIPTNN

D. 3T
D.Concave Lens
D.oid o85S

Answer: C. T3
C.Concave Mirror
C.Aul s

145 3{IHH: 25, 15, 5, ... o 5d UG X14T:
Find the 5th term of the sequence: 25, 15, 5,.......

25,15 ,5....... € WS e il Sz ),
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Answer: D.-15

146 5 JI-R, FSIAr a9 § e gared! fawe gisa. Urd auiyd! aelard a9 &ied Gare aarl 7 Ue gid.
TSI IHH 9 BT 3] (TWHE)?

After 5 years, the age of father will be thrice that of his son. Five years ago father’s age was 7 times as
old as his son.What is the present age of the father (in years)?

Bodsase S Alls. S e (S An ol 37 jee (Sl 1y J 5. 8 583 jee (S By S e (S5 cm Jl
§ 2 S (U o) e

A.35
A.35
A.35

B.36
B.36
B.36

C.40
C.40
C.40

D.44
D.44
D.44

Answer: C.40
C.40
C.40
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147 YT U URAT U Y faufiad IR faum siigd i@l A, B, C 30T D 3 IR fae g,
HHAR fAum el fasT s uyH faum gu=a faumrar gaad, onftr gl faum afdbaesed ug@
ey ed ffsd e,

N TH R IRT Iod fdhar daer I3
A. ot IRT I3,

B. <t 32T Iad! el

C. dl daHR I3

D. Tl Aa&R Iod! ATal.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

She either wakes up late or early .
A. She woke up late

B. She did not wake up late

C. She woke up early

D. She did not wake up early

a8 U Shuie Grand Gp 8 0w dli S 63 ) e e ) laa s Seis o ales SO Gse s s iyl
o Gt S gl S e Bhaie e g3 gl by S el gl (S ales 2 g alea S L

P R~ FER LAY
Ased) Sloss
Bt o oy -

Ceed sala o
Dese usd sla o

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CA
C.CA
C.CA

D.AB
D.AB
D.AB
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Answer: B.DA
B.DA
B.DA
148 I feoiea uaiaiayd 37 o dTex Hel.

DIRECTIONS: Find the odd one out from the given alternatives.

S O S e o e ope Jalie K 0 1w

Ao
A.Tulip
Ay K

B.[cITd
B.Rose
B.>X

C. @l
C.Bud
C..K

D.S3f

D.Daisy
D.sasls K

Answer: C. D]
C.Bud
C..K

149 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Colleague
B.Pavillion
C.Athleate

D.Olampics

Answer:  A.Colleague
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150 I feoiedr yafaiae 37 o aTex ®1al.
DIRECTIONS: Find the odd one out from the given alternatives.

oS G S S o e ope dolie K i

A.30
A.30
A.30

B.52
B.52
B.52

C.10
C.10
C.10

D.20
D.20
D.20

Answer: B.52
B.52
B.52

151 Qdl 311E 81 R < S50 310 S o gertt 3ifg, N g1 R o Gerrht 3irg 3ot M ot §8107 3115, TN 9 S Hied Ard

hig?

Q’s mother is the sister of R and daughter of S, N is the daughter of R and sister of M. How N is related
to S?

QUSRI ESS 2 SCRNUY 2 S M 2o SNBSS i) IS

A
A.Son
A Gy

B.H =T
B.Son’s Son

B.lyls

C.HIS
C.Brother
C.oe
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D.A1d
D.Grand-daughter
D.&%
Answer: D.AId
D.Grand-daughter
D.s
152
A .13
B. 14
C.15
D. 16
Answer: C.15
153 5 =T YfgedT < Y0 IRIERT 378

Average of first three multiples of 5 is:

5.z by S Shitle 05 iy S

A10
A10
A10

B.12
B.12
B.12

C.84
C.84
C.84
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D.31
D.31
D.31

Answer: A.10
A.10
A.10

154 WA WielTel 99T HY 3 Heh Hgd odian IR TTYse Hdu e, JA7 Haw adeear HaT
golfaerar Hg, 9od® ads odrgl HER Thdlel JEAT g, T 9ee S a4d. 350
TeiETeAT HarT el Jehed] SSaT =T

DIRECTION: The question below has three items having certain relationship among them. The same
relationship is expressed by sets of circles, eachcircle reprezenting one item mrespective ofits size. Match
the items with nght set of circles.

e Bl LS B 5 Sy a2 5 8 S S 8 00 oy SIS s e S oot Pl a0 e gt S e by
il il S e S S il o ] S Bl o ) S e Bl il

Og)? % &

(€) D) (E)
Horse, Hen, Amimal
srl @ el

Answer: D. (D)

155 fHTIa: a1 e JHMT e HIUMET 2

ATBT
B.dleT

CTs
D.IHIH

Answer: AADWT
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156

Answer:

157

"favST 3{Ith BRR" o W DIl 3MTgd?
Who is the author of the book “Wings of Fire”?

7o Cinas Sl Gl (&G

ATHH S
A.Ruskin Bond
ASL Sy

B.UUIS 3fsgdl dHelld
B.APJ Abdul Kalam
Bl e o).

C.35Yd g
C.Arundhati Roy
C.s) )l

D.F e Rig

D.Manmohan Singh
D65 (25 00

B.UUS 3fsgd HaH
B.APJ Abdul Kalam

4% = 256 YN, x I G 3o
If 4% = 256, then value of x is:

4 Rix=256¢ 5i 51 x &5 alS

A6
A.6
A6

B.9
B.9
B.9

C4
C4
C4

D.7
D.7
D.7

GET IT ON
Google Play
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Answer:

158

Answer:

159

Answer:

C4
C4
C4

BRI BT EIRELIEIKIN

Copenhagen is the capital of —

Saasl ) (S S

AT
A.Cuba

A.LSLsS
B.SHI%h

B.Denmark
B..S Sk 05 -

C 3o
C.Egypt
C.iS ran-

D.freie
D.Finland
D.S 3l g

B.39Th

B.Denmark
B..S Sk 05 -

WU PG G DIl 2

A ESHTUT
B.GSHTUIH

GET IT ON
Google Play
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160

Answer:

GET IT ON
Google Play

ThT AT JIAHA . 50000 HHIA AT =, 35000 T s=d oft. fam sad Horean Um=n fom @

FHaiedT T=TRR TOTRR M.

In a month Salem earns Rs 50000 and saves Rs 35000. Find the ratio of money that she saves to the

money she spends?

Al S OmmeAllae Saiy s S (SEod ) Sl o UScan S 35000 Lyl = BlS 50000 ais e~y S

SRS aslae i S

A.7:3
A.7:3
AT7:3

B.3:4
B.3:4
B.3:4

C.5:3
C.5:3
C.5:3

D.3:5
D.3:5
D.3:5

A7:3
A.7:3
A.7:3
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161

Answer:

ICEIGE
faemef aiftres Irsres Iaesen Afsha gid 3med.

P P

GET IT ON
Google Play

|. AT 3nfor faemdisimed faemif T/t srHeTea IrHid gvaraR st iurelt urfge.
I1. faamdies 3nfor AeifdencrifoReg PR HRATE Hail s saHe faemf s uesear 9fsha gid 3.

Statement:

Students are becoming more politically active.

Course of actions:

I. Students in colleges and universities should be banned from involving in political activities.
I. Strict action should be taken against universities and colleges in which students are becoming

politically active

ol
O =i s R el sk b el

Jae Aai:

- mls s e anly y Cudsad (e e K om (ol (S el S (st i ) uoalS

-0 20 530 8 m 2 osh ol slilh Ul s Gl (S G5)S i CYA S sty i ) ol el

ATHad | SEEA 38
A.Only | follows

A Gpal K o KY

B.Wad || 3{IERUI R 3]
B.Only Il follows

B. ciya |l & 5 LY

C.UHR | fhal 1| 3[TEH 3R
C.Either | or Il follows
C.lILIE 5 SY S —w e

D.| f3ar 11 L0 HTEET SR Fd AT

D.Neither | nor Il follows
D. 1 usl -8 5 SY oo (58S e

D.| f&aT Il L0 HTEET S8R AT

D.Neither | nor Il follows
D.1os & 5 AY o2 B5S — 02e
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162 246 x 254 =7
246 x 254 =7

246 x 254 =7

A.26484
A.26484
A.26484

B.624984
B.624984
B.624984

C.61484
C.61484
C.61484

D.62484
D.62484
D.62484

Answer: D.62484
D.62484
D.62484

163 I AT giaed fiden vataimyT deftd sier Wi fAdsr
ACFJ : 1369 :: EGJN : ?
DIRECTIONS: In the following question, select the related group of letters from the given alternatives.
ACFJ : 1369 :: EGIN : ?
(S e g R Adleie € Gigpa s (e dalie 8 0 e J)gae b~ e 1
ACFJ : 1369 :: EGIN : ?
A.101154

A.101154
A.101154

B.567891
B.567891
B.567891
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C.681012
C.681012
C.681012

D.571014
D.571014
D.571014

Answer: D.571014
D.571014
D.571014

164 YR gl 13! RSN R aur Usadt aid gl A Siid

Generally Lecture method is assumed as the best method for—

= s Lnens Ay jha 0 i Ak IS Sl A Sl jshale—

A BTRGd faemaf rat
A.High school students

Al S J sl Sb
B.3exfufSe faemeat ardt
B.Intermediate students
B.ebik Cule sl

C Isgue faemaf ard
C.Graduates students
Corilb Cysay K

D.a¥d 9d
D.All of the above
D_(.\LA’J bJ}S.’AA

Answer: C.‘fl'?IQE CRIIIG]

C.Graduates students
C.mlb Sy £

165 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Carribean
B.Luxurious

C.Mysterious
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D.Manufacture

Answer: A.Carribean

166 o ool ufvwe fmfor sruamrel, @ faae (), (Q) (R), (S) 0T (T) € UM a1 g S a™
TARAT BT, AR JrelTe giet ST .
P. ST STHH dTedl 10T AT d&aT Ui 3R(dd.
Q. T Bl YIRS SIaUITTST SHET dvet AT FRsifaciar yid Tt YR fadl. amge dieg!
WS, AT TG
R. Sicgl AT sTes] qrdl 8 Bl
S. ST did did gidl, ATHes dl YU U3, Wdval HTel, T dleal™ U fS1 ag Gg dreet.
T. U o=l dieaim SiTeman slarae SHAd o SfiT $a fExmed gu wmar fea.

YA HedTHoR WIeitedes! HIvld ared ufed 3ra?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crane felt insulted and wanted to take revenge.

Q. He invited the fox to dine with him, and served boiled rice in a jug which he could not eat

R. A fox and crane were friends

S. The crane had a long beak, so could not take the soup, but the fox licked the dish.

T. One day, the fox invited the crane to dinner, and put the soup in a flat dish.

Which of the following should be the FIRST sentence after rearrangement?

ostex &l o 1y (P)e (Q)¢ (R)¢ (S) Lsl (T) =S Usllswe =8 o5 2 jey ¢ s Gadijio s A S by e by S
el

P L3 Uila Wl Yy 5 ) S om0 S Gl

Q. L LS i LS 55 53 b ae B Jla ) gl ega cigen (S S8 S ald S 5l i,
R. 68 Casd (sl ) 53050 S,

S. WS UleS 1l 5 s3asl 08 ol VS (3 (i 40 D5 55 sl oo ogmal e (S (b,
T WS) e n Dlsa Sl o sl sl esd Ciped (S eSS ol € Gl 55l ¢ g S,

bl dodalugSa S ey

AR
AR
AR

B.Q
B.Q
B.Q

Cc.P
(O o
(O o
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Answer:

167

Answer:

168

D.S
D.S
D.S

AR
AR
AR

GET IT ON
Google Play

SR ARl U3R SR Ted, USR HeIRFRAl B Feed, BIFdl S ged, HHE s Bed 3
3BT Ty AR Tged. R HUMRNAS) SIamT S0 Wieiterie! HRITT IR & AHdl?

If television is called air conditioner, air conditioner is called phone, phone is called ear, ear is called lips
and lips are called fax machine. Which of the following we can use for talking some-one?

e OR sl e e e LS Gade S8 S &g ) G S S (IS S 05l o ald S AR ) QUK )l S 5y A8 R

fom S dlenial S s pe dd mapaie o S Sl

AW
A.Phone
A.osils

B.&dIH
B.Ear
B.o\<

C.3%
C.lips
C.&ug

D.U3R HISTR
D.air conditioner
D. S

B.&®IH
B.Ear
B.o\s

SeYggs&y d HIHRSD-

Inventor of WWW is -
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Answer:

Afed ey
A.Bill Gates
AR Js

B.TH. Y&
B.N. Resscl
B.d%w ) -

C.@. T, B

C.Lee. N. Feyong
C. 5 ol ()

D.fou s &t

D.Tim Berners Lee
D.d b

D.fow g <ft

D.Tim Berners Lee
D.d it
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169 3[R 318 YAl &Y clebiaR TR URIRICT UHTd gIdl SATIOT d SHd Tt DHdld, Treid el 391

Ty e &1 Aa fasbrard B gt SiRd Heware 4{ffehT aoad

Alex believes people are primarily influenced by the environment and earn experiences, so he believes

plays a more powerful role in human development then nature

O S Ol os ok ol com S deala moad ) g e e e Gllale sk il S S ke S S

2 S 10 1Sl oaly 5 e S ki g B 55 S

AT

A.nurture

ALy

B.fawt

B.nature

B ki

C.dad

C.change

C.slns

D.gRu&dl

D.maturation
D.ce s

Answer: A ITMUT

A.nurture

PR
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170

Answer:

171

I Wied gyiaed fodedn yataiayr Sefid sieR/Rsq/ARe Fasr.

Cook : Book : :Hoot : ?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Cook : Book : :Hoot : ?

Cook : Book : :Hoot : ?

A.Mood
A.Mood
A.Mood

B.Root
B.Root
B.Root

C.Goot
C.Goot
C.Goot

D.Loot
D.Loot
D.Loot

C.Goot
C.Goot
C.Goot

TaY 3iTh aTgey 8T a1 SR 318 —

The Palace of Versailles is in the country of —

= ome S S o 1S Gabis

AZS
A.England
A iy
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7

Answer:

172

Answer:

173

B.gTHY
B.USA

B.oe RSl

C.%I
C.France
C.ue il

D.3cdl

D.Italy
D.ux B

C.%1
C.France
C.ome pail o

GET IT ON
Google Play

THT TAldhoieal die Haee EREidedl Hed. TAdy deids § oela Frar &I fooream gatedaed 4 a7

Three positions of a cube are given. Based on them, find out, which numberis found opposite number 4 1n a given

cube?

oS el 4 B s o sl LaigS o s b s oy sl oS ol 38 s putls oS sS Sl oy
Y e w3yl

S 9 @3

A.3

B.5

C. 1

D.6

D.6

. A Rig ? 3 gy Tt SRd
N. Biren Singh is the Chief Minister of —

ob e ﬁ))@-i.‘“‘ ol
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Answer:

174

Answer:

I Wieltel 9eATd, fgeiedn WA Alceas | A f=ast.

DIRECTIONS: In the question below, select the related figure from the given altematives.

iz Joliin Bleie i io C¥alle B s oo Sl B b a1l

AHR

A.Manipur
A8 D e

B.figiRm

B.Mizoram

B.=Seosiwe-

chm

C.Tripura
C.Sesmi

D.ARTES
D.Nagaland
D. S &8

ATOR

A.Manipur
A S s

Question Figures

A\

17

Answer I-'igure_s

——

|

o :::]::

B

—_——

-

A1
B.2
C.3

D.4

B.2

14k

]

A

GET IT ON
Google Play
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175 I feoiedr yafaiae 37 o aTex ®1al.
DIRECTIONS: Find the odd one out from the given alternatives.

oS G S S o e ope dolie K i

ANKMJ
ANKMJ
A.NKMJ

B.FCEB
B.FCEB
B.FCEB

C.URTQ
C.URTQ
C.URTQ

D.TQRP
D.TQRP
D.TQRP

Answer: D.TQRP
D.TQRP
D.TQRP

176 T 99 Anfid auf 8 g fSidar, aR a1 asf 12 I i,
TIHAR] dT¢ fhdl 3MTe?

A team won 12 games this year against 8 games won last year.

What is the percent increase?

) aila) dad LS e Cam (SO g8 s e 8 Jl aid K (Son n 3a€ 12 Jl ol 5 a8 SO

A.30%
A.30%

A.30%

B.60%
B.60%

B.60%
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177

Answer:

C.50%

C.50%

C.50%

D.80%

D.80%

D.80%

C.50%

C.50%

C.50%

454.58 — 376.89 + 121.45 - 95.42 =7

454.58 — 376.89 + 121.45 - 95.42 =?

454.58 — 376.89 + 121.45 - 95.42 =7

A.102.22
A.102.22
A.102.22

B.103.72
B.103.72
B.103.72

C.91.72
C.91.72
C.91.72

D.92.32
D.92.32
D.92.32

B.103.72
B.103.72
B.103.72

GET IT ON
Google Play
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178

Answer:

179

b1 1O ded RIpfavar Jayd TR &1 3HTe?
What is the basic utility of the teaching of concept and principles?

f = LS ol oaliiy (S palad (S Gl gal ) ) pead

A faemafr a1gdia arararund IufRyd sRiciedr g dfed H o

A.To familiarize the students with the objects present in the external environment
A S S8y S Gsale cllla gl S elidl 3 sa e e Jsale (Sgm

B.faemate gifie Iusmaifawdt Refaor

B.To educate the students about the mechanical activities

B.lu asled 58 (gale (il ae ol S sna S (SilSe

C.fFcw So-maIRS SMeR

C.To give the instruction—a practical shape
C.d5b lee SOl — L cilyly

D.a3d Td
D.All the above
D.olai o) sShe

D.add 9d
D.All the above
D.alai oy sS3e

SR TTeifeaedn i&RT= HHTd HIe 3I&R TeTs bl 3MTed o T B @il fededr gaiiie! Th Mg
ab ___abca_bbca _bbccaa_ bbcc

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

ab___abca_ bbca bbccaa bbcc

=SS e L) S s alid SO S eaiiel G (S pe gom dia S dis
ab __abca bbca bbccaa bbcc

A.aaaaa

A.aaaaa
A.aaaaa

B.baaaa
B.baaaa
B.baaaa
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C.caaaa
C.caaaa
C.caaaa

D.abbcc
D.abbcc
D.abbcc

Answer: C.caaaa
C.caaaa
C.caaaa

180

Answer:

181

AfaHe AR IHRT JAIRE! a1 el oirss [evd

A mental retarded child can be treated as a normal child

=B LSy Hsh S el 2O 8 a0 Jlay sk

AEY

A.true
Aza

B.@IC

B.false
Bk

Cc.Hmdwel

C.Sometimes

C.oeS S
D.gede! HIvIdg! ATl

D.None of the above
D.ow &8 o Yoz o

B.@Ic

B.false
Bk

AT DI
B.gTdT &R
C. 31U e

GET IT ON
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DASUEICH

Answer: D.SITATY.

182 IRy TP HIR 6 TGS TR TS § AT IHHAT 9/25 3. TR AT &R B 3ATR:

Simple interest on a certain sum for 6 years is 9/25 of the sum. The rate of interest is:

= PGS e 250 1l 89/25 S Jlu 6 Ly il (o padia S

A.6%
A.6%
A.6%

B.7%
B.7%
B.7%

C.8%
C.8%
C.8%

D.9%
D.9%
D.9%

Answer: A.6%
A.6%
A.6%

183 3oww,swgﬁR HITSAT HHDBIAR 3. SR S T RIM Adg- FaRTd SN FRau_d R
RF ?

R is 7 ranks ahead of S in a class of 30 students. If S’s rank is seventeenth from the last, what is R’s
rank from the start ?

30 s 8 (SRS A o S4a 07 w8 w5 anpesjiu w AISRO WS4 08

A(1)4d
A.4th
A.4th

B.(2)9d
B.9th
B.Oth
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c.3)84
C.8th
C.8th

D.(4)7d

D.7th
D.7th

Answer: D.(4)7 G
D.7th
D.7th

184 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
She said to me, “| was waiting for you”.

A.She tells me that she was waiting for me.
B.She tells me that she have been waiting for me.
C.She told me that she have been waiting for me.

D.She told me that she had been waiting for me.

Answer: D.She told me that she had been waiting for me.


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

185 I : el U GYTd & faem 1 341for 11 faered 18 d. & faem Thar W SRUN 3 dhdTd fdvar W
PHRUMY URUTH 3R YehdTd. AT Tk fau™ Sar faummer ulom org iswd. kel faum™ arr anfor
WIATAUD! HI0TAT STRTE TR T Ggt fAuHiHeda defeia g ol d e,

IECIGE
|. TRPR {$A argiar sifafed H drad 3e.
Il. TRHR fdgad arg-iaR 3™ od 3Te.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Government is imposing additional tax on diesel vehicles.
Il. Government is giving subsidy on electric vehicles.

Sl 53 e Jlses a1 | s 1T 56 by o 8 ) - 55 50 S S Sl 31 ey b losas 315
Osisd O G S Gl 08 Ky 2 w8 (S Al gl a5y Sl Gsisa o WS 0 81 IS o puesd (s S s (e il
= US s w Sed S Gl (e 0 Sl

Gl
| — = 20 B 8 lal 5 (238 U8 i sSa
oz iy S b sl S (5058 S0 Caa S

Af3YM | HROT 3 3T Ry 11 = uikone 3R

A.Statement | is the cause and statement |l is its effect;
A g | i g sl =l = S Gl

B.faem 11| ®RUT 31me 3o Ay | @ givons 31g;
B.Statement Il is the cause and statement | is its effect;
B. i gl e gl oyl 2 s - S

C.fayr 1 311for 11 ST TadT RO TR,

C.Both the statements | and Il are independent causes;
C. s Slly 5350 | saad sl 1] -0 Slosas 23

D.faem | 37fOT 11 GG PR WM HRUMTY URUMH 31Ra;

D.Both the statements | and Il are effects of some common cause.
D. et Slly G sigd | paad gl I -om QI S aa g o) (oS

Answer:  D.T3u™ | 3107 1| ST HTaT TTHINI HRUM TRUMH 3HTd:

D.Both the statements | and Il are effects of some common cause.
D. e Sl Gsiga | aed o) -0 DA S aay SO (S
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186 G Wit Wegian iyl 1 A
1.8
2. qoft
3.34
4.7

DIRECTIONS: Arrange the following in a meaningful order:

1. Curd
2. Butter
3. Milk
4. Cow

~0S G e 5S 0 A ke (pe G A Sime SOl il
1. 3k

2. (5

3. 234

4. =&

A2,4,3,1
A24,31
A2,4,31

B4,2 3,1
B.4,2, 3,1
B4,2 3,1

C23,41
C23,41
C23,41

D4,3,1,2
D4,3,1,2
D4,3,1,2

Answer: D4,3,1,2
D4,3,1,2
D4,3,1,2


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

187

Answer:

188

e feoiea sie ATfaddia gebiat T e
7,11, 18, 35, 67, 131, 259
DIRECTIONS: Find the wrong term in the given number series:

7,11, 18, 35, 67, 131, 259

o5eS ke ey e K o2yl

7,11, 18, 35, 67, 131, 259

A.18
A.18
A.18

B.35
B.35
B.35

C.11
C.11
C.11

D.131
D.131
D.131

D.131
D.131
D.131

Gttt S B-d TR IereRu ATel?
Which of the following is not an example of 3-dimensional shape

o Jhe (S A (Ba B LS e llm K o

A. Tgd Uct
A. Chalk box

A. oSt S

GET IT ON
Google Play
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3

B. Ball

z

C. STH I B

C. Ice cream cone

C. 0sS mS ol

D. JHIR st (UReranim)

D. Parallelogram

D. g3uaY (53l s

Answer: D. JHIR IgsT (UReTari)

D. Parallelogram

D. g3ba¥l o)) sk

189 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘Get away Scot free’ in the sentence given below?
Due to an error in the filing of evidence by police, the suspect finally gets away scot-free.

A.To get away with something without being punished
B.To undergo a severe punishment
C.To be imprisoned

D.None of the above

Answer: A.To get away with something without being punished
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190 ft s Tfia g I Fog 7Y 3MRd
Shri Anant Geete is the Union Minister for —

Op aie O S8 il (5 5

AATRY four=re
A.Civil Aviation
A =S s sk

B.3[aoTS INT SHTfOT Hrdoi—e SUhH

B.Heavy industries & Public Enterprises
B. =S sl Sy sl Caria 5 )l

C. 3Mfeandt e
C.Tribal Affairs
C. =S Ollre s

D. 373 Ufshaur IeT

D.Food processing Industries
D. =S il Ky 38

Answer: B.3(aulg I 30T Irdwife SUshH

B.Heavy industries & Public Enterprises
B. =S sl Sy sl Cariaa 5 )l

191 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
| asked around but nobody told me his address.

A.asked many people for
information

B.kept quiet
C.asked nobody
D.went here and there

Answer: A.asked many people for
information


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

192

Answer:

193

BICHITh® WESY DIV YHRAT TSR TR gidld?
On which types of films the photographic slides are prepared?

¢ s S LS 0 B8 S salh (S aud S

A SR U 31cied T1edT hle b ftherqal

A.On simple photographic films available in market
Az osall R 8 edla s (e 1S e

B.BIcUIh® e aR of faRIvd: Wsgd TR HRUANITS! Sdd

B.On photographic films especially mend for preparation of slides
B. o Usalh a s oad Jl A S5 L8 (S 5 (S 1R S

C.BICHh® HUGR

C.Through photographic cameras
Crrd S e (IR 5

D gt HIEIE! ATgt

D.None of the above
D.ow s 258 = g

B.WhIcUThd e aR of faRIva: W5eY daR HRUIITS! ST

B.On photographic films especially mend for preparation of slides
B.n usali amgead sad i Al S )l S IO S 8 S

WU P Jaid AiS Tx- UToft 3Mmg?

Which amongst the following is the largest mammal?

¢ osila Vs e 150 o i S o 3 D~ e

Al
A.Elephant
A

B.®d

B.Whale
B.clexe dus

C.SANIR

C.Dinosaur
C.opulisl3

D3

D.Rhinoceros
D.J%S

GET IT ON
Google Play
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194

Answer:

195

B.®d

B.Whale
B.lexe dus

Which of the following is considered as the “forest of world heritage™?

€ o Ula LS Haaai sk S"0Ris S Ay S alle” (S (e i) ~apdie

A SRS Fgh™a
A.Nandankanan in Orissa
A, FSEaE Gae s S)

B. BTN 3TTH

B.Kazirangain Assam
B. alul o6& s

C.uigm s die Yaxa
C.Sundarban in West Bengal
C. 0w Upe Sy (o3 e

D.Ufgw deE i YR a-reafd S, RigQR
D.Indian botanic garden, Shibupur in West Bengal
D. s swd e JBG e (38 S ke

C.uigH smaHdie Yaxe
C.Sundarban in West Bengal
C. Gitia (e JBG (o ae

W] PTG R Rgrd arguo e Tefdd RIMAR siedd sed?

Which of the following Tiger Reserves are correctly paired with their respective locations?

ec’\)?‘\jac“'d"‘)k@uéb‘é‘w—’umd’:“éu\L‘U_Bsc“u“‘})ﬁ‘)‘)g‘ﬂsﬁd:‘dg‘)m

A Zert Ryt - ST
A.Udanti Sitanadi — Chhattisgarh
A Bdien 1 gl )

B.gigelt 3l - Hfewd
B.Dandeli Anashi — Karnataka
B.oS3U S ;s LS
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Answer:

197

C.dtpt et
C.Both of the above
C. usis S

D.aIdUD! gl ATg!

D.None of the above
D. b o S = o Y A jdie

C. It et
C.Both of the above
C. usis S

(A)

© m=n)

(m+n)

(A) (m—n)

A DEF T, 94 o7 IR A=l 3Ted, Tdd HIH SR
In A DEF, all sides are of equal length, then each angle will be:

ADEF & s 55l 5 ssg cop el ) Gkl ol cne

A.90°
A.90°
A.90°

B.75°
B.75°
B.75°

GET IT ON
Google Play
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C.180°
C.180°
C.180°

D.60°
D.60°
D.60°

Answer: D.60°
D.60°
D.60°

198 Out of the given options which best expresses the meaning of the given Proverb?
People who live in glass houses should not throw stones.

A.Poor and homeless people try to damage beautiful buildings made of glass
B.If someone has a beautiful house, he should look down at others
C.Don't criticize other people if you're not perfect yourself

D.Sophisticated people do not beat others

Answer: C.Don't criticize other people if you're not perfect yourself
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199 o ool ufvwse fmfor wrugrmel, @ faaed (), (Q) (R), (S) 0T (T) & UM a1 g S d™
GREHT &T; AR Jreitd Jeidt 3R
P. ST 3UHT dTedT STl I Jgal °ard SRfda.
Q. I DAl YT SIJUNHTST AT dHat ST RISfaear HId TeT Rea< fGar. ame Hiegl
WS, AT TR
R. SIegT 3ITOT §TesT el T3 il
S. ST did e gidl, ATHes dl YU U3, Jdvdl ATel, T dlegl™ YA fS=T argA Gg dree.
T. U fCa=h SieqIM SHTeHTa Siaraa STHET Pl T $a fewme g wmrer .

QAT HedTHeR WIeiades! HIvfd arad gaR 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crane felt insulted and wanted to take revenge.

Q. He invited the fox to dine with him, and served boiled rice in a jug which he could not eat

R. A fox and crane were friends

S. The crane had a long beak, so could not take the soup, but the fox licked the dish.

T. One day, the fox invited the crane to dinner, and put the soup in a flat dish.

Which of the following should be the SECOND sentence after rearrangement?

ostex @l o il (P)e Q) (R)e (S) s (T) =S Osllsm 8 0 2 sey ¢ Siaad i o sy Al Sl |y e b S
P R

P. L lils Wl Yy 55 55l S e 0 S b,

Q. & LS 033 LS 59 sa b e S Jsla U sl cea igea (S SA S als € 5asl i,
R. 8 g Gl ) (55050 S,

S. WS UleS 1l S 53l 08l gt UgSn (3 (i 40 D5 55 sl (gl ogaal isn (S (b,
T. W) e n Dls Sl o s sl esa iped (S eSSl € Gl 555l ¢ g SO,

f e Us ug adea lu 0sS ey S 3 cam 5o Jlsd

AT
AT
AT

B.P
B.P
B.P

c.Q
c.Q
c.Q

D.S
D.S
D.S
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Answer: A.T
AT
AT

200 gaabTai YHfHIeR FiamgR fasRia sruard sie-

Earliest thermometer was developed by

LS LS s angpd S e Lo o o

AR

A.Celsius
Al

B.Uh¥gISC
B.Fahrenheit
B.uls

C.&fedd
C.Kelvin
C.osks

D.ifciferar
D.Galileo
D. L&

Answer: D Tifaferay
D.Galileo
D. L&
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